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7. The reason for swimming pool to

10.

than the ackual depth s - appear less deep
(a) Reflection

(b) Light scattering
(c) Refraction y i

(d) None of the above

Given below are two Statements, in which one is

labelled as Assertion (A) and the other as Reason (R)-
Asrfenion (A) : “Five Eyes™ is an Intelligence
Alll'nncc of 5 countries including  USA.,
U.K., Canada, Australia and New Zealand.

Reasoq (R) : They share intelligence inpuls
regarding threats to their countries’ interests through
a collective secret database called “Stone Ghost™.

Scc‘:cl the correct answer using the code given below-
e~

(a) (A) is true but (R) is false.

(b) Both (A) and (R) are true but (R) is not correct
explanation of (A).

(c) Both (A) and (R) are true and (R) is correct
explanation of (A).
(d) (A) is false but (R) is true.

Given below are two statements, in which one is
labelled as Assertion (A) and the other as Reason
(R) -
Assertion (A) : Pulses, when included in
intercropping with cereals, act as
_ complimentary crops.
Reason (R) : Pulses with tap root system, do not
compete for nutrients and moisture
with cereals having fibrous root system.
Select the correct answer using the code given below-
Code -
(a) (A) is false but (R) is true.
(b) Both (A) and (R) are true but (R) is not correct
explanation of (A).
(€) (A) is true but (R) is false.
(d) Both (A) and (R) are true and (R) is correct
explanation of (A).

Consider the following events and arrange them in
correct chronological order starting from the earliest
to the last activity :

(I) Discovery of pi meson

(II) Discovery of Neutron

(I1I) Discovery of Electron .

(IV) Discovery of Proton

Select the correct answer using the code given below:
Code -
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7. Rafin ya & arafda e A @ Te wdid g

H TR & —

(a) wraid (b) wepter FaOHA
_eyanmads (d) Sy A @ HE A

i @ wem Ry wy g Reml /@ @
afaiert (A) 3R GRR @) RV (R) TE1 T4 & —
SR (A) @ “TIGa g e ey IR,
fes, were, sifefern ok o ufka 5 <
a1 g yfan oA ) ‘

FRO1 (R) : "% ¥R AME U@ Afed 1@
e & urm A Ay A B Rl @ fg @A

@ an ST T3 & & |
A9 Ry m #e d 76 IW gfg -
Te —

(a) (A) 31T & fg (R) i &

(b) (A) 3R (R) @i wea & feg (R). (A) @ W&
] e wn B

\y(maﬁ? (R) 2 e & 3R (R), (A) @ W&
@ HEl 2 |

(d) (A) 3 & faeg (R) W<l B

9. 1% 71wy Ru v &, R @ & AEU (A)

3R G B R (R) e T8 -
AU (A) ; AT aTell Tl D AT HATHEA
@ ®Y ¥ miAd 81 R AR [T
WO @ G4 § BTl Bl @ |
HRT (R) : HI TS WOl aTcl] Tofel 9GR WS
gl AT AN @ Bl @
uya dedi R Tl @ fag wfsagt d
Tl B
A Ry MU HE T STUN TD WE IR F GG
Hifrg -
i@_
(a) (A) 3w & feg (R) W1 B
T (A) IR (R) AT wa § g (R, (A) A &
AR R FHET €
(c) (A) wen & foeg (R) 39 2|
(B (A) 3R (R) a1 W & 3R (R), (A) B ¥
aTEN HAl & |

10. fr=fafag vemall W R At @ = 9@

FaAEd H eEafed SR, wa ugd A ARe
Wﬁgqam%rﬂ nfafafey o -

(1) g R A E

(I =i H @

(1) g M @

(IV) Wier @ @

A Ry U He F WA I FE SW B G4
T :

'Qz'?_" -
(8) 1, L, 1V, 11 (b) UL IL I TV (@A, 1L v, 11 (b) 111, L 1, IV
(¢) L IV, 1L, 1 (d) IL IV, LTI 1L IV, 11, 1 (d) 1, 1v, 1, 11
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1. Given below are two statements, in which one is
labelled as Assertion (A) and the other as Reason (R):
Assertion (A) : The struggles in South Africa
prepared Gandhiji to lead the National Movement.
Reason (R) : Sceing the militancy of Indians in
South Africa, Gandhiji was convinced that the Indian
people would be ready for militant struggle and
sacrifice for a cause,

Select the correct answer from the code given below:

Code -

(a) Both (A) and (R) are correct and (R) is correct
explanation of (A),

(b) (A) is correct but (R) is incorrect,

(c) Both (A) and (R) are correct but (R) is not the
correct explanation of (A),

(d) (A) is incorrect but (R) is correct.

12. A sum invested at 7% simple interest per annum
grows to T 540 in 5 years. The same amount at 9%
simple interest per annum in 3 years will grow to be-
(a) Tas0 (b) ¥ 520
(c) T420 (d) T 508

13. Match List-I with List-Il and select the correct
answer using the code given below -
List-I List-1I
A. Jaya Varma Sinha 1. Author of “Tales from
Banana Republic*”

B. Manoje Nath 2. P.M. of Thailand

C. Srettha Thavisin 3. The first woman
Chairperson of the
Railway Board

D. Dr. Mohamed Muizzu 4. President of Maldives

Code -
(a) A4, B-1,C-2,D-3
(c) A-3,B-1,C-2, D4

(b) A-2, B-1,C-3, D4
(d) A-3,B-2,C-1,D-4

14. Out of the four given pairs below, how many of the

13.

] GO P
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?‘F(;)m (R) At wé & 3R (R), (A) B w

ara Fer g .
(b) (A) wél & frg (R) Teid & |
(c) (A) @1 (R) < w@ ¥ &g (R), (A) B T
maﬁm?:ﬂﬁg
d) (A) Tera € g (R) [
Lﬁmm?%mmaﬁﬁﬂsﬂﬁ

540 X & wrh & T e 9% WSt T e
)V

A 3ad A 8 Wl -
(a) 450F (b) 520F
(€) 4203 #5083

-1 B qA-11 F gofera Ffg ar = g
MY S 9 Hél IR & 9H B —

-1 11
A. 511 99t e 1. "2 Wi a1
Rufias” & da@s
B. ¥Ar 1y .urdets & duy,
C. 2on1 efafy 3.3 A P g Aigen
egey
D. €. Weme TE 4. W & Irufey
mﬁz -
(a) A4,B-1,C-2,D-3  (b) A-2,B-1,C-3,D4
A-3,B-1,C-2, D4 (d) A-3, B-2,C-1,D-4

following pairs are correctly matched? Y & ———
List-1 List-II *‘/P -1 11 _
(Research Institute) (City) gﬁ 4 (T W) (¥mex) 29.7
(A) Arid Forest Research - Jodhpur ‘1-5; (A) IS T U - SR 29 . 5
Institute b LiEIE
(B) Himalayan Forest - Dehradun B) e @ s -t -y
Research Institute 5 TR na-$S
(C) Rain Forest Research - Jorhat . 91 Tq HTH - Wree
Institute ﬂ' q.f_;" (F) TR 9—-—{:
(D) Tropical Forest - Jabalpur A (3 UGBy 79 - \ s s
_ Research Institute FTHUT I -
(a) 4 (b) 2 (a) 4 (b) 2
(€1 (d)3 (€)1 v At
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15. Consider the following statements with reference to
0SMOSiS :

(1) If the semipermeable membrane js placed
between the solvent and solution, the solvent
molecules will flow through the membrane from

pure solvent to the solution,
(2) The process of flow of solvent i called as reverse
0SMOSIS.
Select the correct answer using the code given below:
(a) Both | and 2 (b) Only |
(c) Neither 1 nor 2 (d) Only 2

16. Consider the following statements with reference to
Uttar Pradesh Budget, 2023-24 -
1 2-1. The size of the Budget is ?MK} crore.
P, 2. The Fiscal Deficit is estimated to be at T 84.883.16

I crore.

_} Select the correct answer using the code given below:

\65  Code- Gys¥?
g\iﬁa (a) Both 1 and 2 (b) Only 2 109

(c) Neither | nor 2 (d) Only 1

17. Consider the following events and arrange them in
chronological order -
1. C.R. Rao, the cminent Statistician, passed away
II. Ustad Ali Zaki Haider, the Rudra Veena exponent,
_passed away
[11. Bindeshwar Pathak, father of public toilets in
India, passed away
V. M.S. Swaminathan, father of India’s Green
Revolution, passed away
Select the correct answer using the code given below-
Code - Yy
(a) I, L IL, IV ®) IV, I, 1 —%
(c) IV, L 1L Il (d)ILIL LIV
18. Consider the following events of seed multiplication
stages and arrange these in correct chronological

T T ®
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15. Ry @ el # Prefafaa st ®OfRER

iﬂf\‘,m_

(1) uft g anfurer B fRoms sk e
@ ma wa @ o a femas & ] g el
i A Pae we g feas @ e 3 AR
warf@ea & I |

(2) fams & yare a0 ge 9w afyem R
Wl

N Ru 10 He & ganr N FE IR F U

#Hfore —

| afiR 2 & (b) Fad |
()=t an 1= 2 (d) a2

16. ger w3y aore, 2023-24 & wel . Frafafaa
wgAl R Rar $ifon -
| a9e & AHR 7,60,000 TSI B _
2. oI TTeT 84,883.16 FS T & BT AHAA

gl
#a Ry 10 Fe @ wE R AE IW B TG
N :
qe_.
1 3R 2 < (b) BT 2

CEGTE PR (d) Faa |

17. frafofaa el w® far A aunr S5t

mmrmnmﬁama?rﬁmz—

I e wifafae, MR wma & s

1. o5 dion aes, SWR e ) 2er & fAuE

11, ¥R & wEafs dareadl @ 99, fAdvar
ured @1 feE

IV.wRa @ eRa wifd @ 996, .od. @A
@1 A=

i 5 Iy g @ 9 I gy -

ﬂ:\z-

(a) I, 1, 11, IV (b) IV, 11, 111, I

() IV, L 1L, 1M AL TIL LTV

18. i1 T ol @ Fr=fafaa el w far
IR I% URPIE o § Sifow o ae ud

order from earliest stage to last - Yo FrATHAG B arEiad wN -
I Breeder seed 1. Foundation seed _l-H—{T-,- L wors 4 1. IRy 4

(S® L Certifiedsecd  IV.Nucleusseed Lo HLyafmdw V. d%w &

lq('. Select the correct answer from the code given below— A Ry My He A FE IR BT g1 FforT —
Code - Tw°© -

IV, LI 10 (o) ILULLIV YIv, LIL I (b) ILIIL I, IV
(c) ML LIV, 11 (d) 1L IV, 1L, 1 (c) NILLIV, I (d) IL IV, 1L, 1
o e LTI
R I e
36
qr &3 et T 726‘ A

%;’f’%
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36. What is correct in the following statement/s with 36, IR
reference to Uttar Pradesh? qur il 3/g? 1 3 '\’?53‘5 fPrerifia ?l
(A) Age has been determined in Pre-primary (A) :Ej grifAd feit A af PuifRa 2
education as 3 to 5 years, iy fammn @ Y 6 .
(B) Age has been determined in Primary education as (B) Wi a at g "Jﬁm '
6 to 11 years, fa Ry MY (L
Select the correct answer from the following code He - (b) sl A
Code - - B y
(a) Only B (b) Only A (a) @ A B (d) A 3 B <Al
© (¢) Neither Anor B (d) Both A and B e A AT E £ mEea eI W Ry
37. Consider the important events of coal mining in India @I’F\'ﬂ ﬁ.ﬁwr—"‘ 7 oraftud Fifen
and ammange these in correct chronological order FIfAy @1 e ‘3% aF —
starting from the earliest to the last activity — WqR_UES W Ay sl IaTEA
L. First production of coal in Raniganj @)Wﬂ'ﬁﬁ W raa @ 5 & T
I. Establishment of Coal India Ltd, (CIL) I wra g fafes (CIL)
I11. Nationalisation of coal mines 111 Frael W &1 AETADR N
IV. Establishment of National Coal Development V. A Bl famrd farma (NCDC) !
Corporation (NCDC) A1 Ry mu g P STET IR G TE IW
Select the correct answer using the code given below: e HfoTe
Code - FC —
(a) 1L, 1,11, TV (b) 1, 111, 1, 1V C@mpfy ALY
(¢) L1 111, IV (d) LIV, 1L 11 (c) LIL 1L IV (d) LIV, IIL I
38. Given below are two statements, in which one is  38. 3 21 o oA T g, R wa @1 afsem (4)
labellt?d as Assertion (A) and lhc_ other as Reason 114 q:\q'} ® RO (R) &l 7Tl g -
(R) - | IfdU (A): Rygadia adm |99 991 @ waifte
Asser'lioll:_ (A): T:l:l::;qu;lorial forzsit .bi;)me;'s the IR aTeT 99 9 2|
tome with the densest and highest biomass. R (R): figada o= a5 § ad S :
Reason (R) : There is high rainfall and high *) I AN BN R | A ™
temperature throughout the year in the
equatorial forest region, :ﬂ% m O e P HETA W IR B A
Select the correct answer using the code given below: dahisd
Code - R =
(a) (A) is false but (R) is true. (@) (A) 37w R |315=E_[ (R)yw=a &)
(b) Both (A) and (R) are true and (R) is correct w(“\)m (R) 31 W & o (R), (A) T W@
explanation of (A). : AT AT & |
::)) (BA) is true but (R) is false. . ::)) (A) ¥ @ fi‘:}ﬁ (R) 3rgeg &
oth (A) and (R) are true but (R) is not correct . (A) T2 (R) 3 W E R
explanation of (A).- AAT & FRqy '?-I ﬁ’_ﬁ R). (A) w
9. Consider the following statements with reference to 39-% & wienf ¥ -
T F et
Bankim Chandra Chattopadhyay: W faur IR el
I He was the first graduate of Calcutta University. 1. 9€ Herdn h’”ﬁm D Huy FaF o |

2. ‘Sitaram’ was his last Novel.

Select the correct answer using the code given below: m T o & T R el IR @7 9
Code - '
(a) Both 1 and 2 (b) Neither 1 nor 2 J‘fl 3R 23Mi
(c) Only 1 . (d)Only?2 ' (©) 3 1 ®) 371982
=~ (d)
2-01] i Pacc 100f32 —ou :
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45. Given below are two statements, in which one is

labelled as Assertion (A) and the other as Reason (R):
'?\ Assertion (A) : Rabi crops in lllf.“ll are
' predominantly cultivated in north-
5,2 ’G western states like Punjab and Haryana.
w \ Reason (R) : The success of Rabi crops in these

7 states depends on the rain due (o

estern tropical eyclones during winters.
y Select the correct answer using the code given below:;
\b

Code -

(a) Both (A) and (R) are true but (R) is not the correet
explanation of (A).

(b) (A) is false but (R) is true.
(€) (A) is true but (R) is false,
(d) Both (A) and (R) are true and (R) is the correct
explanation of (A).
46. With reference to “Kuzbass region in Russia”, which
of the following statement/s is/are correct?
L. This region is rich in coal and iron ore.
2. Novosibirsk is an important industrial centre of

this region.
Select the correct answer using the code given below:
Code -
(a) Both 1 and 2 (b) Only 2
(c) Only 1 (d) Neither 1 nor 2

47. Two statements are given below, one is labelled as
Assertion (A) and the other as Reason (R):.
Assertion (A) : In October 1940, Gandhiji gave call

for a limited Satyagraha by a few
selected individuals.
Reason (R) : The Satyagraha was kept limited so as
to embrace Britain's war efforts.
Select the correct answer using the code given below:
Code -
(a) Both (A) and (R) are true and (R) is correct
explanation of (A).
(b) (A) is true but (R) is false. -
(c) Both (A) and (R) are true but (R) is not correct
explanation of (A).
(d) (A) is false but (R) is true.

48. Which statement is true regarding Bipin Chandra

abh + g5 = 1k>

prepp

Youg.Pers nal Exams Guide

—Th%

?E)d(;) st (r) <l & g (R). (A) @1 g

aran € & €|
(b)(A)m‘éFar«j(Ra);gg:
< (R)
%::;Ei)ﬁ;ﬂﬁﬁﬁaﬂ?(m.m)ﬁwﬁ
e P # | y o
a6. "<y ¥ gorawy e @ et A PR A g
P W/ pom WA B/E
. 7% &7 TR 3iX olle TR W WIE Bl
2. iR 3w & B ¢E Heaqel e 3y

gl
9 Ry v e & TANT H Gel SR B gy
iyl .
\.ﬁdamza’m‘i (b) Bad 2
(c) &gt | (d)aar1=mer2

47. 9 ) A Ry MU €, v &1 e (A) R
T B BRI (R) FET T & 0
AT (A) : HTER 1940 F, TSN ¥ T T
gV @l ERT Wi W @
 3MRam )
@R (R) : I8 9O0E g4y D9 @ man aifs
ﬁévra‘;qamnﬁjs‘ra‘ﬂqﬁm
‘ﬁﬁﬁ‘lﬁqﬁt?ﬂmﬂmﬂﬁwww

@' —
(a) (A) IR (R) N7 W=y ¥ aire (R), (A) & W&

f= (R) arrew 2

G (A) IR R) AT weg & :
AR UL &g (R), (A) & 7@

(d)(A)mﬁﬁﬁ(R)m 2
48'ﬁﬁqﬁm$ﬁ3‘!fﬁﬁﬂmiﬁmmﬁ?

Pal?

. He was a Brahmo Samaj Leader and Social . 98 #ErRwTh T qer TS g o) |
Reformer. 2.9 3fean wm 9y AITRD iy THTRTE

2. A weekly magazine named New India was ) frg feean|
published. TRE I T 3w wew g -

Select the correct answer using the code given below: @ -

Code - .

(a) Neither 1 nor 2 (b) Both 1 and 2 . ' W:‘“" 91 & 2 (b) 13k 2 2

(c) Only 2 (d) Only 1 (c) & 2 (@) hlil

[C-01] ol
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COnSIdCl' the HOWINg statemen -
8 1. Moradabad is renowned f,, g

8 2 rco
carved a niche for itself i the ll:ail:(:i?“;k.and has
throughout the world, raftindustry

2 Mm-adabal! Special Econome Zone
first SEZ in northem Indiy gey
pradesh Government,

Select the correct answer using the code piven below:
Code - '
(s) Only 1 _ (b) Both 1 and 2
(¢) Neither 1 nor 2 (d) Only 2
§0. Given below are two statements. Onpe is labelled
Assertion (A) and the other as Reason (R) -
Assertion (A) : Jaunpur is known as Siraj-c-Hing.
Reason (R) : Jaunpur was a great centre of education
during the Sharqi period.
Select the correct answer using the code given below:
Code - '
(a) (A) is true but (R) is false.
(b) Both (A) and (R) are true and (R) is correct
explanation of (A).
(c) Both (A) and (R) are true but (R) is not correct
explanation of (A).
(d) (A) is false but (R) is true.

(SEZ) is the
cloped by Unar

ias

61. Rocket works on the principle of the following :
(a) Energy Conservation (b) Bernoulli Theorem
(¢) Conservation of (d) Avogadro’s Concept
Momentum

62. Regarding Punjab Merger, which of the following
statement is false? '
(a) On 29* March, 1849, the Govemor General
announced that the state of Punjab had come to
an end.
(b) All the territories of Maharaja Duleep Singh
became part of the Indian British Empire.
(c) Duleep Singh was given an annual pension of
< 2,50,000.
(d) None of the above
8.5 equivalent vertical lines are drawn on a board. 5
equidistant horizontal lines are also drawn on the
board cutting the 5 vertical lines and the distance
between any two consecutive horizontal lines is e.qual
to that between any two consecutive vertical lines.
What is the maximum number of squares, thus

formed? ,

(a) 16 (b) 26 .

(c) 30 (d) None of the above
i‘é‘.ﬁ]

||

s
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@«mmm HoEl W AR W -
I IRIETAE TR @ wm @ e ufg @ sk o
gfvm w9 wwfien gom 0 gl @ @
ugEHrE @ @)
2. iemare fad anfls e (SEZ) S HRa i
IR YR IR R AafE uwen SEZ R
NA Re e e @ af g e g Hfg -
xe -
J‘f e |

(c)stam1smir2

(b) 1 32 2 =¥l
(d) @ad 2
60. i @1 @ fav ¥ va w afvau (A) 3R
TIR W BRI (R) BE 71 2
@A (A) @ S @1 Rrm-v-fae & AW 9@
ST #
HROT (R) : SR o] &1 ¥ e & werm &=
T wUH oA
#ra Ry MU g ¥ wh IR g
az‘z_.
(a) (A) W @ feg (R) 3 |
M (A) 3R (R) EFT W@ E AR (R), (A) BT
2 Rl
(©) (A) 3R (R) 2l W & g (R), (A) BT W&
e 8wl €|
(d) (A) 3rr & fFg (R) 6 €1
61. P=fafag 3 @ vive fre Rigra | a1l &

&
A i o

(a) Tl HRET
CRIGEIR L (d) JTATTIET B TR
62. toma @ faerm & waw A, Ffafea 3 A dE
o (e W7
Lgffwmﬂ. 1849 B TR TR @ AR [ Hon
d 6 doia T I @ R
(b) FERTEN <du Rie & Wi wew ARdw fafen
e & e @ g E|

(c) =l Rig # 2,50,000F affw dv 2 & )
(d) I § A I T

63. vw A1$ W 5 wHieReN Wi g A wE ¥ |
A W 5 SR X B Fred gg S aiav
ammzﬂﬁﬂéglwaw
yamaii @ dra A 5D Rl @1 P afers it
3 Aa 41 g0 @ T ¢ | T8 e A T a1 A
7 @ w82

@) 16 AT 26
() 30 (d) IR W [ FE AL

L IARRN A
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64. With reference to “69" National Film Awards for ~ 64. "693 st fbed qﬂm FE /W W
2021", which of the following statement/s is/are frafafaa s/
- R/ o
qt? " - gn
correc R am 'Tl'lEITTz‘ ﬂ'ﬂmﬂm.

1. “RRR" and "Gangubai Kathiawadi” bagged 5 and .
6 National Awards respectively,
2. “Rocketry: The Nambi Effect” won the best

g Award.
Feature FIIIJ;: war ' | o R ) T @ W R
Select the corpey answer using the code given below: @b
- N ,
Code Ry : ae - e 2 <
(@) Neither 1 or 2 (b) Both 1 and 2 (@) 5 @y 1 =T 8 2 (b) 1
bors d) 1
(c) Only 2 (d) Only | _ef v 2 ( N
65. In reference to Mangalayaan launched by ISRO,  65. gy grR1_dit= fy T o
consider the following statements — Prefafaa et w R ST s
(D I is also called as the Mars Orbiter Mission. () 3 7 aiffder firerm +t w1 SIdl

(I1) 39 =gz 2013 ¥ @f=d g1 4T 27|

(I1) It was lnu@:ed on November 2013, P — e B TGNT X HEl SUY BT 9y

Select the corfdct answer using the code given below:

Code- - (‘:l.) aﬁﬁﬂj : '

(a) Neither I 1'1-5:11 (b) Both I and II 2?:[ a1 An J&{] IR 11 <=1

(c) Only1 (d) Only I1 (¢) dae | (d) BaeT I

66. Which of the following statement/s is/are correct? 66. f=forRaa wemi A A Eﬁh—‘{'ﬂ/ GIGE VA

1. ITC means.the credit of Input Tax on the supplies 1. I A, F1 Waerw fR IS @fd gRT yw
of goodsfa‘gd services or both received by a : TGSt R Hawlt a1 = D MY W TR
mgisleredason. T B R

2. Eligibility o ITC which may be as under-taxable 2. IRAWM. B A T IBR B W @ -
supply, non-taxable supply, zero-rated supply. . 'q’i:'q IR, -z Ih'rq ST, 3 ¥

Code - i az;ﬂiq;ﬁ

(@) Bothland2 *  (b) Only2 " /’”1 AR 2 I (b) Baer 2

(€) Neither 1ngr2 - (d) Only 1 ©Far1 g2 (d) Sae |

67. Which of the @l}owing statement/s is/are incorrect? ~ 67.
A. Part I on Fuhdamental Rights of the Constitution
is based u@llj Bill of Rights of the U.S.A.
B. “Right to Di#"” is a Fundamental Right under
Article 21 of the Constitution.

- AR4
- C. Indian Constitution is a complete Federal _ . it
Constitution. @W?“&k I
D. Fundamental Rights can be removed . - e
D ITER

Ium;ler the
Indian Constitution,
Code -
(@) OnlyBandC.. . (b) Only C and D
(c) Only B (d) Only B, Cand D
[C-01] o -
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72. Given below are two statements, in which one is
labelled as Assertion (A) and the other as Reason (R):
Assertion (A) : Significant technical and institutional

rcfm:ms in Indian agriculture are
required to feed the growing population.
Reason (R) : A significant number of farmers in
many parts in India still rely on monsoon
rains and natural soil fertility for agriculture.
Select the correct answer using the code given below:
Code -
(8) Both (A) and (R) are true and (R) is the correct
explanaliun:wl’(f\).
(b) (A) is true but (R) is false,
(€) (A) is false but (R) is true.
(d) Both (A)_and (‘R) are true but (R) is not the correct
explanation of (A).
73. Which state of India is renowned for its deposits of
limestone, gypsum, salt and zinc?
(a) Hap'nna (b) Rajasthan
(c) Gujarat (d) Punjab
74. One fourth of the sum of the odd numbers greater
than 14 but less than 50 is the square of -
(a) 2 (b) 24
(c) 4 (d) None of the above

"Llr_ 75. With Feference to the Gaza Strip, which of the
P following statement/s is/are correct?

Q5 7 1. Itis bordered by Egypt.

Y37 2.1tis bordered by Israel.

15, |7, 12, 21,23,
,?_5" g;;, A%, 3|

pPrepp
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q U
72. 4R {1 @ Ry Mg E ®
afvwem (A) 3R Co| ﬂ?ﬁl?“ ﬁa'(Ri)%;E zﬁl ‘EQ% :
afﬁ‘fasmm):“ amnﬂlﬁ TR 34

Ffa # :
HReTTe GErl D 3"5:5.’“’“”. g
AR ' =7 il mﬁa@ ﬁ””lﬁ

m"ﬁﬂ?\ ﬂzgmmﬁ-‘i’rﬂq‘raﬂ?ﬁg

!
WQQW?@?}WWWWW;

T
%\)aﬁ? (R) @i wied & 3R (R), (A) 3 4
@ FIAT 2 |
(b) (A) W ? fareg (R) 39l € |
(¢) (A) 3Rt & e (R) T<d B |
(d) (A) 3R (R) ¥ & & g (R), (A) 3t
@ 8 Hen 2|
73. RS &1 B ol g geRr, TR, T gy
T g fgry @ forg Wi 87
(a) efamomn wfwmm
(c) ToR™ (d) vomd
74. 14% 72 o 509 B Ron wE@mi @ i 5
THp—eurg_aif & —

(b) 24 &1
: SR H A 3R
HUA / BYA| ¥

4-\\  Select the correct answer using the code given below- 7 IR fRw U Fme ¥ 9& SR @1 999 BT —
31 ! Code - 9 13’ ! a-'g—: 2 ]
a1 () Only1 (b) Neither 1 nor 2 4143 (a) Tae 1 b)yFa 17 & 2
251  (¢) Both 1 and 2 (donly2 39, oY1 3R 2 g (d) Baa 2
1 3176. Consider the following statements with reference o 76. IR_IeY Nae e Rrg TR — 3

#  Uttar Pradesh Global Investors Summit-2023 - y7r e W Feaied suer ) e DITY it
3 , 1. The Summit was held in Lucknow. 4 2/ M9 1. AR W= orgeg 3 I farar wr_m |
29 _ 2. The Summit was inaugurated by the President of 2. RRR wies @ ST RT3 Ul gw
9 % India. fovar o)
a8~ %e]:;ctthe correct answer using the code given bcm::g ﬁ fod T BE B WA v [h SR Y

- Code- he —
237 (a) Only 1 ? (b)Neither1nor2 L (a) dq9 | b
(d) Both 1 and 2 £ () d3w 2 B
7 - N e 2 2

2| 7—; (c) Only 2

15 : Districts of U.P.) is correctly matched?
(¥ (a) Devi Patan Temple — (b) Chinese Temple -
l S/ Shravasti Mahoba
?—” (c) Bawani Imali, (d) Samaspur Bird
6 Shaheed Memorial - Sanctuary — Amethi
Fatehpur

78. Which one of the following (Boards in India -

Headquarter) is not correctly matched?
(a) Coffee Board - (b) Tea Board - Kolkata
Hyderabad
(c) Spices Board — Kochi (d) Rubber Board -~
Kottayam

Which one of the following pairs (Visitable places -

7 Pt g Xy v — gy 7
D ML BN 5 99 P Ryal) 7 ¢

m"fﬁ?— (b) ¥ iR — e
(CJWW'Q@E ) a
FIRE — WeigyR Fmi.qﬁﬁm

j&%ﬁﬁﬁqmw(mﬁﬁd

&) gafer w1y &7

2 M = BT (0) g 4 et
(©) 70T 9 - iRy (d) ¥R as _

[C-01]
ek 2
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79 h:::m S ol ek ;:l!:‘wslflccl the correct 79, i1 @ wdi—11 @ gifem AR e A Ry
List-1 List-11 T HE W /@ IW P - \
(Capital City) (Country) -1 -1l
A. Kampala I. Rwanda (ﬂm‘-’ﬁ IER) (3“) ‘(
B. Kigali 2. Uganda A. wure |, ¥are] \L
C. Kinshasa 3. Sudan B fmed (2,
D. Khartoum 4. Democratic Republic of the C. fvamem S 3. 3
Congo D. W . & waifEs TRy
Code - /e -
(8) A-1,B-2,C4,D-3  (b) A-1,B-2,C-3. Dy A-1,B-2,C4,D3  (b) A-1,B-2,C-3, D4
(€) A-2,B-1,C4,D-3  (d) A-2,B-1,C-3. D4 c) A-2,B-1,C4,D-3  (d) A-2,B-1,C-3,D4
80, The correct sequence from north to south of the fraf ure i faf= @3, Rt we aw o &, @
various passes called Ghats in the Western Ghat is - gr 9 <ffr & ud e -

(a) Thal Ghat = Pal Ghat = Bhor Ghat
(b) Thal Ghat = Bhor Ghat = Pal Ghat
(¢) Bhor Ghat = Thal Ghat = Pal Ghat
(d) Bhor Ghat — Pal Ghat — Thal Ghat

(a) o1 wire — UId 91 — R °re
/{}Wtﬂt—)"ﬂ?ﬂm—)mﬁﬂﬁ‘] ‘@_
(€) 4R "re — o1 e — UTd =Ie

(d) %k Gre — uTd UIe — U °1e

81. Match List-I and List-II and choose the correct .?1. '\tﬁf[_| afv -1 B -ﬁ'ﬁﬁm Ffow @ A Ry
answer using the code given below - Y Fe W I g -

List-I List-11 -1 -
(Gold Medalists) . (Game) (vt ugw fawia) (@)
A. Annu Rani 1. 5000 metre A. 31 I 1. 5000 #rex
B. Parul Chaudhary 2. Javelin throw B. Uroe dedl 2.\l Bd
C. Tajinderpal Singh Toor 3. 10 m. air pistol C. afr=xurat fig mf’ 3. 109, TR fres
D. Palak Gulia 4. Shot put D. e Tferan 3 4. 7ren Bw
Code - e -
(a) A-2, B-1,C4,D-3  (b) A-1,B-2,C-4,D-3 (a) A-2.B-1,C4,D-3  (b) A-1,B-2,C4,D-3

82. In a group of 25 people, 12 read French, 15 read @i @ @ wag W, 12 @ B ged € ;S,IFI’I‘T
English while 6 of them read none of these two. How 3l ved €, Wafe 5 A _6 A 6T &1 T B AR
4 w21 S_Y R S wa e sk 2

| e S0y L
(c) A-2,B4,C-3,D-1 (d) A-1,B-2,C-3,D4 ) A-2,B4,C-3,D-1  (d) A-1,B-2,C-3,D4

many of them read French and English both? —

(@) 0 (b) 8 (a) " o

(c) 4 (d) None of the above {c) 4 (d) TR A W o T
83. Match List-I with List-II and choose the corrccl -1 B -1l ﬂ%ﬁ;ﬁ;%ﬁlﬁ%ﬂgﬁqﬁﬂ— ®

answer using the code given below lhe lms I fau Y wme & iy

. ListI List-11 -1 p i

(Product) (Dislrict (Sare) | q

A. Kala Namak Rice 1. Pratapgarh A"ﬁ?‘[ﬂ qrdael L WaTaTe ;L—

B. Desi Ghee 2. Kushinagar B. W3 3 T,“‘““'Rw

C. Amla 3. Siddharth Nagar C. ?;:nf'" ‘ 4‘ figr

D. Banana Fiber 4. Auraiya ::,—z b BT 3

Code - . .

C-1,D4 (8) A2 B3,CY/D-1  (bLA3.B2.CT;

(a) A-2, B-3,C4,D-1 (:) ij 2; B ] s B

wn l T
lC-m] ag (IO

‘Sej 0 )
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asen below arc. WO statemenys, in
pelled s Asscr(.mn (A)and the ogher
mrtioﬂ (A) : The Bengal British

was founded ip 184

which one is
as Reason (R):
Indian Society

3 as ares
g sult o
George Thompson's efforts [

Reason (R) : George Thompson was brought ¢
from England by Dwyrk 5,

to organise the politicy movement
gelect the cormect answer using the code given hch.‘w-
Code - '
(8) (A) is true but (R) is false.
(b) (A) is false but (R) is true.
(c) Both (A) and (R) are true and (R) is correct
explanation of (A).
(d) Both (A) and (R) are true but (R) is not correct
explanation of (A).

anath Tagore

91. Find missing number in the following figure -

& O

(a) 1 (b) 26
(c) 31 (d) None of the above

82. Consider the following statements with reference to
National Book Fair -
1. It was organized at Lucknow from September 22
to October 2, 2023.
2. It was organized by Government of India.
Select the correct answer from the code given below-
Code -
(a) Only 1
(c) Both 1 and 2

. Given below are two statements, in which one is
Assertion (A) and the other is Reason (R) -
Assertion (A) : Narges Mohammadi was awarded

Nobel Peace Prize for 2023.

Reason (R) : She fights in the favour of freedom of

Press.
Select the correct answer using the code given
below - /
Code -
(a) (A) is false but (R) is true.
(b) Both (A) and (R) are true but (R) is not correct

(b) Only 2
(d) Neither 1 nor 2

prepp

. Your Personal Exams Guide
Ny R b i
T (A) Tl IR FY Fv (R) Her A @
Ifwes (A) : dma Rfw #fEam dREd @D
AT 1843 ¢ # A odfaa @
war @ ufroms e
WY (R) : Wil e &) grarm 2R §73S
A MR v gt wnfda @
@ forg @ o)
fa Ry 1 @ @ v e W I w1 g
anfar:
aiz -
(@) (A) Treu ® fang (R) arren 2
(b) (A) arde & fod (R) wca 2

7 g fav o @

\\j"m)&ﬁ? (R) &F Wen & 3R (R), (A) H ¥8

91.

92,

ar@n &l 8
(d) (A) 3R (R) aF @ & fg (R), (A) @1 5
QIR@ el &l 8 |

ﬁ:maﬁaﬁ@m_mmm-

‘% 2%
1,
(A
(a) | 9 ¢ 26V

3 (d) Swdrad # A FE A€
ALY qEIS Al ‘ﬁ_ﬁ'f‘?f?l‘ﬁilﬁa?\!ﬁ‘i
I 7e 22 R 8

2. AT IJNTT ARA TR
A Ry T e W WA WY

@-
(a) Bae 1 AB) B 2
(c) 13fR 2 At daad1d2
93. A <A oo & R A & -
AR R FRA R)® - & —=;.
AfPe (A) : TG AEEE BT 2023 @ 5 .
wif weeR A wenfa A maniss

FROT (R) : T8 U9 @) el @ 0 N Al & |

2R Ry Ty FT T STAN FRS FE IR gAY —

'a&?_

(a) (A) 37 & fFg (R) ¥4 © 1

(b) (A) 3R (R) € g & g (R), (A) F Wel
ayrE e &¥ar # |

" explanation of (A). (©) (A) 3R (R) Q1 w1 & AR (R), (A) @ FTE@
(¢) Both (A) and (R) are true and (R) is correct am@n W 2|
explanation of (A). Q ST 2 fb (R) 39 R
_____(Q(A) is true : . : ~No P : o
Conp 8D € GTLITER S IR T TTTHIR
Lar 3) A/ W R 3 2 A= \e

/
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90. Given P . 0 statements, in which one is 90, M@ o@wus fRvome el | W Cal
labclkd as Assertion (A) and the other s Reason (R):

« The - AfwerE (A) TR GIR W wR ‘R'mi ‘Tmf‘ ;
Assertion (A) : The Bengal British Indian Socicty sfvweEt (A) : ama fafen g -
was founded in 1843 '

as o result of W 1843 8, Sttt eifrqa @
George Thompson's efforts. cravell W GO @
Reason (R) : George Thompson was brought out WYl (R) ¢ Gifol el &) grarn 2R s
from England by Dwarkanath Tagore A wRa WA wiEE wnfa
i i ) & U @ a)
to organise the political movement & fau ¢ §
i ' $a e W1 AT W U IR @

Gelect the correct answer using the code piven below: fra fAu ny @me W w1 I 97 13

o
Code - .(E;_
(@) (A) e & g (R) 3 B
(b) (A) arred & fag (R) T 2

(8) (A) is true but (R) is false.
(b) (A) is false but (R) is true.

(c) Both (A) and (R) are true and (R) is correct (A) 3R (R) & A £ A (R), (A) B &
explanation of (A). i@ & ¢ |
(d) Both (A) and (R) are true but (R) is not correct ) (A) 3% (R) =i @ & g (R), (A) @1 T8
explanation of (A). @ e wY e
. . 1 r m $ |Eﬂ|: - .
o1. Find missing number in the following figure - 91. Pyeifafaa faa 4 ‘ 2 2131 S
o) ™ OV
D, A >
' 1 g g BT
a) 1 (b) 26 (a) & < 5l
:c; 3] (d) None of the above ‘)ﬂ 31 5 (d;m AL R
82. Consider the following statements with reference to 92. g;,l’ﬂ O im woh % P
Bt oo e e vy FeR ¥ 2 SR, 2023 TF TGS A
1. It was organized at Lucknow from September 22 1.7% 22 f;rrm w-mi -
2. It was organized by Government of lnc-ha. 2, sﬂ;ﬂq Qldiﬁmﬂ 3 w8 oo TR -
Select the correct answer from the code given below- 2:' TR
ode - 2 Fad 2
((i) Only | (b) Only 2 g l-,aﬁ, yf(ﬁd)fa d1MA2
(c) Both 1 and 2 (d) Neither 1 nor 2 (c) 13k 2

93. i T I fro e &, Rrd R @ AfE (A)

93. Given below are two statements, in which one is

FRO (R) 8 —
Assertion (A) and the other is Rcas;)-n (R: ;mrdcd m b q;ﬁ'ﬂ sl 7 203 @ B .
i . Narges Mohammadi was aws IO A bl
Assertion (4) N::f:l Peace Prize for 2023. wifal [RIR A wﬁ: L bl
 fights in the favour of freedom of FROT (R) : & W9 7 WAd B U _
Remm(m:Sr’hr:;s;g‘ :ﬁﬂ&ﬁm@mmﬁﬂﬁa’%ﬂﬂwgﬁn-
Select the correct answer using the code given i
below - ‘ (8) (A) o & R (R) W &1
# g (R), () F&
Code - L iatme (b) (A) 3R q(g)aﬁ‘i :laz :
(a) (A) is false but (R)1 . . i e
s not corre & :
& Bm:' (Al} an:f((%m e bt (08 ' (€) (A) 3R (R) a;#r @ § AR R), (A) @
e ation . .
©) Bx:::hm(ﬁ.) and (R) are true and (R) is comeet e ¥l € |

wa @ farg (R) 39 &
explanation of (A)- (A)

AW s v f, S T

1
2

A—\b
L v5 ~ \8

i
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94. Consider the following statements with reference (o
Untar Pradesh:
I. Ayurveda Mahotsava 2023 was organised in
Jhansi.
2. Taj Mahotsava 2023 was organised in state capital,
Lucknow.
Select the correct answer from the code given below:
Code -
(a) Only | (b) Neither 1 nor 2
(€) Only 2 (d) Both 1 and 2

95. Match List-1 with List-I1 and select the correct
answer using the code given below:
List-1 List-I1
(Painting) (State)
A. Madhubani 1. Odisha
B. Lepakshi 2. Maharashtra
C. Pattachitra 3. Andhra Pradesh
D. Warli 4. Bihar
Code -

(a) A4,B-1,C-2,D-3 (b) A+, B-3,C-2, D-]
(c) A4,B-2,C-3,D-1 (d) A4, B-3,C-1,D-2
» Consider the following and arrange these in
increasing order of frequency :
(D X-rays (I) Visible rays
(IIl) Infrared rays (TV) Radio waves
Select the correct answer using the code given below:
Code -
(@I 1 1v, 1 (b) IV, IIL 11, 1
(e) I 1L 111, IV (d) L 1L, 1, IV

Consider the following statements with reference to
Uttar Pradesh Sangeet Natak Academy -

(1) It was established in the year 1965.

(2) Itis located at Varanasi. _
Select the correct answer from the code given below-

Code -

97.

pPrepp

Yowwrﬁ%‘#de
94, g waw @& el A - '
o 2 : mulfﬁlif
,'m@z T 2023w A ™
2, ;g wirara 2023 wen B a
NGRE gl YUt —
o e 4 a1 A
ga:f—aa | % ar1 a2
(c) @aa 2 (4 'ﬂmm zﬂa feu
95. yyfl—1 @ w11 A gaferd 'W@ >3
T P WA FR e S I
" -1 ga-11
(Rrrand) (era)
A. A Saahi
B. e A
C. qEﬁ:ﬁ 3. 3™
3 (b) A4, B-3, C-2,D-1

1.C2,D-3
(8) A-4,B-1,C :3,C-1, D=2

(¢) A4, B-2,C-3, D-1 A4, B- |
X fER aﬁ%ﬂ 3= omghl @ 723
20 araReg g :

M @ (I % s

(D 3rawaw st (V) Ay ava

91 Ry T FHe FT WA IR HE SR B g9u

DY :

e —

(@) I, 1L IV, I

(e) L 1L, 11, IV
9. SR_y_wia Aes s

Fr=fefra wom w far o —

(1) S0 v 36 1965 3 g ofy |

(2) 7% IR A Rerg @

ﬁﬁ?@ﬁaﬁwﬁwﬁgﬁq—

(b) IV, II1, 11, I
(d) 1L, IL, I, IV
& wel

(a) Only 1 (b) Neither 1 nor 2 (a‘s i;"-qa 1 [ 48
(c) Both 1 and 2 (d) Only 2 (€) 13R 2 ) (d; ;?Ia; 12;]T bk
98. Which of the following statement/s is/are correct? 98. Frfafan @eor /ot 3 @
L. The sugar industry was initially located in Uttar g/& AR
Pradesh. L A SarT yrmy 3 -

Il. The low yield of sugarcane, short crushing LT & a9 gyg “;‘: ;?:1;‘ ﬁﬂ?‘m{:,:;ﬁ @
seasons, unsatisfactory location of industries IRFATTTS mm‘ m‘ L
created problems in producing sugar. ' e & R : "

Code - FE —

(a) Neither I nor I (b) Only I (:) SEE B

(€) Both I and II (d) Only 11 ﬁ 18R 11 2= l ::; Eaa :

9. Who was the first to use the word ‘Megapolis’? - TR T BT gy e .

(a) Jean Gottmann (b) Taylor \Jﬂf W9 el (b) 2or¢ f6e faar?

(c) Davis (d) None of the above (c) fw (d) B , .

=01) Page 22 of 32 13 it
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| . S i ) Irect sequence i o
gdministrative division during (e Gupta I'c:i:;q-:‘ of - 100. fyr ) 4 a1 g gyl weafrs feeE @

() Bhukti = Vishaya — Vi —, Grama -ﬁﬂ.}ll*'_‘l_'l"
(b) vishaya = Bhukti — viy; _, Grama _!/"f‘ui.m — fauu — #fy — uw

(c)Vilhi — Bhukti — Vis]my“ - Grama (b) faun — "_lj}ltl — N — gm

(d) None of the above (©) @ifar — faa — fanm — um
der the following st: (d) Fudact A A W T
tﬂ“cons' = £ statements with reference 1o 101, ;5]-1{1md H_{_]_;h_i] o} faefafag sae w Rar

gcheduled areas — o
|. The President of India notifies Scheduled arcas, 1. R @ A5 srpgfa e 7 sftfa
2. State with scheduled areas need to constitute a i

Tribal Advisory Council. 2, arpRfera &l AR IS W SFIART HEAErR

ufuE @1 TS WAL B E )

S e e, - v belo- A1 f2u 0 e @ w@ IR 9y -

Code - | ik 1y
(a) Neither Inor2 (b) Only 2 (;‘)“ a1 8 2 (b) @3 2
(c) Both 1 and 2 (d) Only I oot 1 92 @A (d) Faet |

102. Consider the following statements with respect to 102,351 & Ny Fys a@ @ w ¥, Fr=fataa
Directive Principles of State Policy: Al W faar Hifre e
|. They are not enforceable by the Courts. 1.2 =t gr1 yadE e

5. 1t shall be the duty of the State to apply these 2. Wi P & ga1 Rl @1 AT, HAT 9T B

inciples in making laws Fera €|
Principles in making laws. ‘ ‘ |
Select the correct answer using the code given below: #ra v v ge & warm wX wé I 9T
, =
Code - - X .
(a) Only 1 (b) Both | and 2 @@l % 3;1; : qag a
(c) Only 2 (d) Neither 1 nor 2 (c) @adt 2 o i ;ﬁ—a i
103, Match List-1 with List-IT and select the correct  103. 11 'crg :Igg—ll 4 ggﬂqﬁljl Gl
answer from the code given below - " M @ \ 9 i
List-I List- ; - 3
(Coal Based Power Plant) (Located in State) (@vaa :mmﬁﬂ faorel Wa3) (qg ;};::fhm)
A. Kahalgaon 1. Madhya Pradesh A, HEATE 1, ol
B- Khargone 2. Bihar ' B. @A ;
C' Korba 3. Karnataka C. HRdl 7<:1 FHACD .
D. Kudgi 4. Chhattisgarh D. zg—gtﬁ _gdaTe
.K _ i |
s ) B) A-1, B-2,C-4,D-3
- -3 (a) A-2,B-1,C-3,D-4 | (
5 n.1.C3.D4 (b) A-1,B-2,C4,D LB 4D
A28 (d) A-2,B-1,C-4, D-3 (c) A-1,B-2,C-3,D+4 A-2.B 195_13__
(c) A-1, B-2,C-3, D-4 < : -y A

i ; 108, grren @ <l W
104. Consider the following statements with reference to

coal - Y - ; . |
1. India is one of the world's leading producer of = i
i ' =l Jike Jharkhand 2. MR B SIRES iy weRTe 9 A
9 India has vast coal reserves in states like Jhar 1 s
and Chhattisgarh. Mo P mﬁmﬂﬂq o s
Select the correct answer from the code given e
1 50 I i 2 (b) B |
it cyaal d) dad 2

(a) Both 1 and 2

a2 ( |
o2 OO g TR

[C-ﬂ]] i 134 BUSHPRS.
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he first time i :

us for l‘ - ! n Il‘ld[a "

“’, ﬁﬂ“’ng the British era in the tenure nl"f

fferin (b) | .
pord Du ©rd Lytton
::; Lofd Mayo (d) None of the above

with reference 10 Q-?O §ummil 2023, which one of
g ¢ following (Participating Countries - Participated

as conducted

cad) is not correctly matched?
H) Ngcmina — Alberto  (b) Canada - Justin
(# Fernandez Trudeau
© Australia - Anthony  (d) Brazil - Joko Widodo
Albanese
4. with reference to Preservation of Wildlife in India,
1

w!:ich of the following statemenu’s is/are correct?
{. The wildlife (Protection) Act, 1972 provides legal
" framework for the protection *of wild animals

only-
» Project Elephant aim to conserve wild Asian

8% - Wl - g4 g;.f.a\ﬂ"

-3 'repp

@Q""“ 0 fafew @ W m‘:@% Yo fareEol exams Guids
wrtera 1 @) ar sErpoEn g8 133\4

(a) i Twi (b) @i feres

(c) wifs W (d) st X B T
12, 130 R w2023 3 <ient 3 Freafarad 3

A aya-wn (e aw—uford yfaan) e

—_—

fera =l 27 ‘
(a) artdran — e M—m — wfteq g3l
S .
(¢) aifeeform — warfl  (d) ahid - Eical
fasrat

3‘(‘!"0“;“ .

13, e i1 apclldl @ viee @ sl A, P
A a—r /0 A ad /8 :

| qercha (tiRew) sfafam, 1972 Fad Al

SRl @ e @ fg wEph @ T Tl

2l

2 grrae e @ s dad i
elephants only. aifri @1 wRe e 1
(s) Only ! (b) Only 2 I~ (a) 3 | @2
(c)BolhlandZ (d) Neither 1 nor 2 (c)lam-iﬂ:ﬁ qjﬁljlb 2
44 The height of Ramesh is 5 feet. What will be thest 114. e &) FHad s HIC &1 e A
height of Ramesh in nanometer (nm)? b 3 fpal arfi? T
(8) 152.5%10" nm (b) 152.5%10° nm (@),152.5x107 ¥frer.  (0) 152.5% ﬁ Z‘Imﬁ'?‘qﬁ
(¢) 152.5x10° nm - (d) None of the above A6 152.510° FATER (d?);“i‘“ﬂ Ao
] C
115. Which one of the following is the correct sequence of 115.2011 m z:l'm’“ 3‘§§,”@ ﬂqsm&m —
States with decreasing populdtion density accordmg(:—_) ?‘;ﬁq S Frafefad
1o the 2011 Census of India? N € a"ﬁ?l e AT
(a) West Bengal, Bihar, (b) Bihar, West Bengal.l C{\_]) (a) ﬂmﬁﬂﬁ <R T3, B
Uttar Pradesh, Kerala U}tar Pradesh, Ker.; a l:j- m e @ﬁ'ﬁﬂ it
(c) West Bengal, Bibar, () Bl Bmgda ™ N e, TR W avd, S W
Kerala, Uttar Pradesh Kerala, Uttar Prades s o e w2003 X .
: ith reference t0 3 ICLUE - il e
i llowing statements with re S S e W TR
I It was hosted by Indore city- = 5 e A R e EW
. z . onth of Scplembcr- cn fae MY HE ¥ el Ik Bl
2.1t was organised I o ode given below{™ A u
Select the correct answer from the code & C,.\% g (b) @aet |
L 2
Code - (b) Only ! . (a);xj;: @=a@1ma2
(€) Only 2 - in their chronological -F ﬁll?li : % @ A R R 3§ e I
"7, Arrange the following Acts from the code ey
order and select the correct answer ?nﬂm-‘ £
given below: ;{-) Ii. Fet 2= %mmq s qL :
L Lex - Loci Act D o o weR IRET S 9o
II. Bengal Tenancy Act [C?I) V.4 freafaener wfifTad |2°>-
IIL. Age of Consent Act Tojgme el P
IV.Indian University A< = )@ L, IV, 11 3R 111 v, 111
Cde - (b) [v‘ l. “ ﬂ“d “l i . H r__
WLV dand I gy gt T NN

©LmLMand IV ™
[C-Ul]
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129. With reference 1o the first-n s is/are comrect? () 23{'61'\' 3 @ g?ﬁ[!n' Ehdk F'""?.:
T o e lowag S e g @) & o g @ AR T g n,
(1) Ruby Laser produced pulses © I light. A ¥
(2) Ruby Laser produced pulses o r:; viven below: g ; \
Select the correct answer using the code £ aE - S5 (b) 1 3R 2 a5
Code - , (o) @l I (d) B3 |
(8) Neither 1 nor 2 (b) Both | and 2 (©) aad 2 4 qy‘{ﬁiﬁ aﬂﬁm wi 'ﬁu S
| | quh-“ i
7
130 Match List-1 with List-1l and select the corree e w1 war -1
answer using the code given below: ‘ -1 Q=1 /B Wiy &
List-1 List-11 ocy) (G?\'ﬁ) . 3T TR )
(Festival) (State/ Union Territory A, g ud ,
A. Hombill Festival . Andhra Pradesh B < ol ; q]ﬁ]gq
B. Sangai Festival 2. Manipur C. % i 3. dqard
C. Flamingo Festival 3. Ladakh . *ﬁw” i 4. TS
D. Hemis Festival 4. Nagaland g-zt' —
ol e~ b) A-2,B-1,C-3,
Code (a) A-1,B-3.C4,D2  (b) s 4
(a) A-1,B-3,C4. p-2 (b) A-2, B-1, C.3, D4 ) e1.D3 () A4.B .C-1,D,
(€) A4, B-2,C-1, D3 (d) A<, B-3,C.1,D-2 Al B-2,
131,

R BT/ D R
Which of the following is/are not 3 capital city/cities 13T, fy=iferfaa § 9 Sk Sl LS,

1 ?
of any country in Europe? o T B /8 1. g %ﬁ a
I.Riga 2. Rotterdam L&m 2. fewdH -

3. Zagreb 4, Zurich
Select the comrect answer

from the code given below: A Ry o ge 4 @ W@ ‘
Code - @ —- .
() Only | (b) 2and 3 (a) Baa | \J’é’m ’
(¢) Only 4 (d) 2 and 4 (c) Bt 4 )ﬂ (d) 2 3R _?Q
132. With reference 10 primitive subsistence agriculiural 132, fen Frafes pf et & i P/
practices, which of (he pair/s is/are correctly el /e wh g/8?
matched? R vgfy &=
Agricultural Practices Region 1. gififr . ?:ﬁ‘m—'-]?f of¥r
1. Jhumming * South-East Asigy 2. fiye ‘ AfRTE
5 Ladon ! isttan e e T
Select the correct answer using the code given below: A fr o2 9wl ST &1 a7 Fifere:
Code - . -
(@) 1,2and 3 (b) 1 and 2 only (@) 1,23k 3 g,(lﬂéaa 13k 2
(€) Only 2 (d) Only | (€) Baw 2 (d) By |
133. Consider the following statements with reference to 133, “gifyury ST B wHef Pt ol ©
‘Operation Ajay’ - fRar -
1. External Affairs Minister S.lnishankarnnuuunced 1. fadey LEIR Y WviEy Y - i )
the launch of ‘Operation Ajay’. T 0 oy Lol 3 S
2. It was started (o bring back Indjans stranded in 2. 0% ~TT SoTEy
war-hit Israe], .]ﬁ;? T ¥ A W Refrat ) o
T B forg gy fasar
Select the correct answer using the code given below: T Ry my T B iy
Code - oy b T Iey T
(a) Both 1 and 2 (%) Only 2 1 3 > 2
2 - b
(€) Neither I nor 2 (d) Only | (©) 7 1 a7 A 2 (b) By 2
[C-01)

(d) a}t'a 1
Page 28 of 32
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134 f1; q Your Personal Exams Guide
. TN R o (e — T R
(l) Article 124 :::rfu:u. Court ¢ be g Court of qqlm 8 #? 3 ( 1 i) -‘T‘l
or¢ :
icle }"ﬂi'l!r: 124 - S s —.ﬁ{‘ al
p) Article 132 - Appell; ety C }9 L AR R e au.
" Cf::lll e Jurisdiction of Supreme (b) arque bl kALl
adticle 143 - Advi Y Taq 132 - ey =samrag @ s
(c) ¢ Cltn\nl:nr)' Jurisdictioy of Supreme | sfvmfen
(d) Article 136 - Special leave 1o 4 cal o ST 143 - Temm e @ lﬁ!'l
Supreme Coun appeal by the (d) 3{;1131: 136 - }{”m“ SATAY R A W
ﬁ. ot E 2 fanm gt
95(Pichhwal painting is associated -.'"\" .
1 %) Goddess Kal (b 1 (\:r::lgrh'u.h deity? 135, fuard frawdl i dam @ wwafaae 82
(c) Srinath ji/Krishna (d) None n:":hc b (a) & @reh (b) serar=y fra
dbove + & “‘ LY. .”'.'_é
136. Consider the fnlluwing Statements wi A </ !w . (d) Syer A “ PTg el
gimon Commission — § with reference 1o 6. yirgrA aE @ Fed & Pymfafaa werst w far
b g o -
1. It made two Visits to India.
a &1
2. Its second visit was from October 11, 1929 i 1. ﬂ[ﬂiﬁ.ﬂﬁ;ﬁl: ARl fd'!:I(I T
13, 1930. 2910 April 2. §ET U Hagay, 19294 13 30, 1930
. a® @1 o1
Select the correct answer using the code given below: A4 fau Y ae B WM FR FE I AT
Code . i e —
(8) Neither 1 nor 2 (b) Only | @a@IMA2 (o) dad |
(¢) Only 2 (d) Both 1 and 2 (c) Bad 2 (d) 1 3R 2 =1 o
137. The missing number in 3, 8, 13,24, 41,70, ..... 137.13.8,13,24.41,70, ......... | dad d@em 2l b
(a) 80 (b) 75 “(a) 80 ®75 m_‘/ w
(c) 117 (d) None of the above (¢) 117 W TR [ F A8
138. Which fraction comes next in the sequence? 138. 3y 3 apren =1 FA—w T § o
1385 73 173 5 7 L ufﬂ'
2’ ot 8’ 16 \ ;.:;E,"i_‘. ...... o : Qf
@y (b) 12 e k] w1z s 5 W2
32 35 o 32 35
(c) 11 (d) 10 (c) 11 (d) 10
34 17 34 17
139. Which one of the following pairs (Institute - Place) is Prfafaa goll (fRum — ) 4 @ aF-11 0@
not correctly matched? 2>
(@) Indian Grassland and Fodder Research Institute - el gﬁﬁ?ﬁ{ e &
Jhansi ) 'ﬂa)ﬂmw@ﬂmmﬁmm—mﬂ
(b) Indian Institute of Farming System’ Research - _ : '
Varanasi w)mwmmm-m-
(c) National Bureau of Agriculturally Important ¢) TP Iuanfl yara e
Micro organisms - Mau . (c) R R o

(d) Central Institute for Research on Goats - | (&= Q) JHuM HRAM — FagH
Makhdum

140. Which statement/s is/are true regarding Lord @ Hie duid @ wed ¥ 319 W /A U 9 & /87

A

Cor

Curzon? 1. S WG H) WAIEE @ dced W wifua

1. Establishing the English Empire on granite rock. Cagl

2. Announcement of Calcutta Corporation Act. 2. Taadl fFm affraw @ o

Select the correct answer using the code given below: #ﬁ ﬁm M FE $T T4 D Wel SR G

Code -

(a) Both 1 and 2 (b) Neither 1 nor 2 1:si'rz 2 At Gy @ 1@ 2

(€) Only 2 . (d) Only 1 16 ‘)(gm 2 (d) Bae | ) E
n Y6 =

)

g_) e Sl

5 L 7\
L.-/ \ | i?'l ,?) o0
© 6 x lu._,.m bﬂi
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118. Which of the following pairs is npot correctly
matched?
(8) Adam Smith - Wealth of Nations
(b) J.M. Keynes - General Theory of Employment,
Interest and Money
(¢) Gunnar Myrdal - Asian Drama
(d) Karl Marx - Principles of Politica) Economy and
Taxution
119. Which statement/s isfare correct regarding the book
*Mirat-e-Sikandari*?
(1) There is a description of the happiness and

prosperity of the Kingdom of Sultan Mahmud
Begada of Gujarat,

(2] There is a dESCl‘iplinll of proper arrangement for
the security of trade routes,

Select the correct answer using the code given below:

Code -

(a) Only 1 (b) Neither | nor 2

&7 o

(a)mﬁnﬂ—aﬁ”ﬁmmaﬁmgm?ﬁﬂﬁ—‘d.

(b) LA, @y — T T
gexe 7S

(ZJE'gﬁgmmﬁiﬁﬂT’ﬁﬁwma“” AN

2
ﬁﬁ%@ﬁmmwwmw

He -

(a) et | (b) 7 @1 141 € 2

(¢) Both 1 and 2 (d) Only 2 M | 3 2 @i (d) Baet 2 }
120. Which of the following Manganese producing areais  120. iy 3 W PF-W LTS SAeE & PAtem |

not located in Karnataka? Rerer = 27
(a) Bellary (b) Chikmagalur (a) doard) (b) farFaTeR
() Shimoga (d) Srikakulam (c) R R HBTHeH
121. Which of the following country/countries is not part @ SIIRIZ AN E BIH—aT /¥ 29 3Ra_UREY
of the Arabian Peninsula? g?
I.Oman  2.Iraq  3.Kuwait 4. Syria- 1. 2.39% 3.gda (4. R

Select the correct answer from the code given below: i ey o T 4 W 98 IR T
Code - TE —

(a) 2 and 4 both (b) 2 and 3 both (a) 2 3R 4 )

) 23R 3 g
(c) Only 4 (d) Only 1 TPLQLEE_L d) ®ae |
122. Which one of the following Payloads was used in 1 * I3 B ¥ T SR verg ® AR—TH T

Chandrayaan-3 Mission to determine the elemental R e o By foTm. Hairore (Mg, Al Si, K,
composition (Mg, Al, Si, K, Ca, Ti, Fe) of lunar soil Ca, Ti, Fe) 3 5110 v fre frer 3 R

and rocks around the lunar landing site? feram o2
(a) ILSA (b) LRA (a) ILSA (b) LRA
(c) APXS (d) None of the above (c) APXS (@) ST % ¥ P

123. Match List-I with List—II and choose the correct  123. @) | & - e AT Tor R Ry

answer using the code given below: T HE A w8 99w e
List-I List-II 1 :
(Banks) (Year of g:i)— E-IT
: Foundation) (v )
A. TATETER d% 1. 1874
A. Allahabad Bank 1. 1874 B. 5
B. Punjab National Bank 2. 1881 - ANl R 2. 1881

C. Awadh Comimercial Bank 3. 865 C. 3 FaRfaer ?ﬁﬁ\) 3. 1865

D. The Alliance Bank of Shimla 4. 1894 D. 3 310~ 4 iM% fnren 4. 1504
Code - e —

(@) A-1,B2,c.3,p4  (b) A-3,B4, C-2, D- (@) A-1,B-2,C-3, D4 (b) A3, B4, C.2. p g
- (6) A-2,B-1,C3, D4 | (d) A4, B-3,C-2, D-1 (¢) A-2,B-1,C-3, D4 WA A4, B-3,C-2, D-|

cor Pugens ctaa LT
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124. With reference to the Marine P, .
. roducts

Development Authority (MPEDA), which EFP:?:"

following statement/s is/are cnrrccl?. 5

1. MPEDA was established in 1972

2. Itis headquartered in Kolkata,

Select the correct answer using the code given

below -

Code -

(a) Neither I nor 2 (b) Only 2

(c) Only 1 (d) Both | and 2

125. Match List-I with List-II and s
answer from the code given bclgw?clm the correct
List-1

List-11
(Schemes) ’
A. PM. Garib Kalyan Package | mting Year)
+ B. Muskan Scheme 2.2020
C. Mission Indradhanush 3. 2018
- D. Pradhan Mantri Jan 4.202]
Arogya Yojana B
Code -

(a) A-2,B4,C-1,D-3  (b) A-3,B-1,C4.D-2
(c) A4,B-3,C-2,D-1 (d) A-1,B-2,C-3, D-4
126. Given below are two statements. One is labelled as
Assertion (A) and the other as Reason (R) —.
Assertion (A) : Accounting is the language of
business.
Reason (R) : Accounting provides all information
needed by a businessman,

Select the correct answer using the code given below-

Code -

(a) Both (A) and (R) are true but (R) is not the correct
explanation of (A).

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(c) (A) is false but (R) is true.

(d) (A) is true but (R) is false.

127. Kidney stones are formed due to -
(a) Deposition of Fat (b) Crystalization of

&

Oxalates
(c) Precipitation of (d) Deposition of sand
Proteins particles

128. Given below are two statements, in which one is
labelled as Assertion (A) and the other as Reason
(R) -

Assertion (A) : The colour of Red Soil is due to the
qde dilTuston of iron rather than
ig yportion of it.

Reason (R) : They are generally poor in nitrogen,

phosphorous and humus.

Select the correct answer using the code given below-

Code -

(a) Both (A) and (R) are true and (R) is correct
explanation of (A).

(b) (A) is false but (R) is true.

(¢) (A) is true but (R) is false.

\$Prepp

" Your Personal Exams Guide

A a1l sam B R siftawr (MPEDA) @
m{) Y, PR weat § T/ ]?r;‘g

I. MPEDA @ 3omqy 1972 # id of |
2. BN AT BYAwTa) 8 |

M Ry 70 72 /1 T afy —
ﬁa— '
(@812
(c) @adt | (d) 1 amz 2 =5

125. -1 1 -1 9 wafera Ao oo @ fae
T g A W 9 gy

(b) Fiaa 2

-1 11

. _ (wrem )
A. UETTHET A Toar daa 1.2014
B. Fg?ﬁm whH 2.2020
C.M¥™ g=uqu 3.2018
D. WUTHA W AR M= 4.2021

a-]_d.-
() A-2, B4, C-1,D-3  (b) A3, B-1,C-4, D-2
A<4,B-3,C-2,D-1 (d) A-1,B-2,C-3,D4
12679 51 ®am fau U &) @ & e (A) e
TN @1 BRI (R) FEI AT € —
AU (A) @ TEEA ZAEM 9T 2 |
RV (R) : d@HA AIEE FRT JEAE T
A W& Bl & |
A Ry M He & YA Fd AqE IR & g

Eﬁht_

(a) (A) 3R (R) TFT w@ € fg (R). (A) @1 &1
& TE |
A) 3R (R) g1 wcg & 3R (R), (A) @1 |81
a2 |

(c) (A) Iy 2 fg (R)Wg )

(d) (A) ¥ 2 fa=g (R) 3r7eg 2|

127. 1 fra® wro T=d) 87
(a) T91 ®71 WG JfeaTee &7
IERSGIER
(c) Wi &1 s@Emy  (d) ¥@ & @O F1 oHE

A T Ry Mo R § o
HHLA (A) IR TR H FR (R) TET T & —
AU (A) : Ta B &1 37 R @ 9=

T aud ID AAD JTOR B FROT el &
FROT (R) : T7H AHAR TR A=4a14, HEHRY, AR
T @ B e 2

M Ry 1w 5e A 9 Iw gfig -
Te

(a) (A) 3R (R) TFl W & iR (R). (A) @1 981 A

e Pl 2 | (4
LT (A) o7 @ g (R) W B -

(c) (A) e 2 fobg (R) 39T | A
(d) (A) 3R (R) < wea & g (R), (A) @

(d) Both (A) and (R) are true but (R) is not correct e TS e R | ( \
—______explanation of (A). T _;'
(o) Page 27 of 32 ARSI,
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105. Maitch List-1 with List-Il and choose the correct  105. -1 @ [YA-11 A B I
answer using the code given hclnwl-i . q‘qqﬂg 1: e IR - )
List-I Ast- -
(Important Days) . (Date) (sreea m) 7rd 03
A. World Population Day 1. March 03 A. fazg sreian fead 2. -,_—Ela-rg 11
B. World Wildlife Day 2. July 11 B. fAva gwasfia faad " 3. a0 07
C. World Ozone Day 3. Apnil 07 N . g aea Raw 4. fa=R 16
D. World Health Day 4. September 16 EL;:1 D. fva waren fRad
Code - [ - -1,B-2,C-3,D4
(8) A2, B-1,C-3,D4  (b) A-1,B2,C3, D4~ E 2, B-1,C-3, D-‘; ::; :_L B-3,C4. D2
(€) A-2. B-1,C<4.D-3 () A-1, B3, C4D2 W A2, B, C4, D 5 P g
106. With reference to the “Great Barrier Reef”, which of 105} e aRaw @ '\q"_"'g?
the following statement/s is/are correct? ;;W;%Eq TR/ "z W Rerd 2
L. It is sitwated along the north-eastemn coast of |, TE Jieferar @ W—Tﬁ 3 3
Australia. 2 sad £ 2500 TSI A Glﬁifﬁ,
2. It is more than 2500 kms in length. =d ey Ry v FHe A 9E IR F Tg- DT
Select the correct answer using the code given below: & & — ° )
e N “) AR 2 yﬁ)//] 3R 2 g1
(a) Neither 1 nor 2 (b) Both 1 and 2 ~ @7 Gl d) 37 |
(c) Only 2 (d) Only 1| o (o) @ad 2 <t
107. If the day before yesterday was Sunday, what day ~N07.3f 19 foqq & & faA ‘Ef Qlaa;ha” 'GT Rt By
will it be three days after the day after tomorrow? % f2q gy @ dF &7 gvard
(a) Sunday (b) Monday 1 R . (b) €A .
(c) Wednesday (d) None of the above %) TR (d) SWRIaT H | PIE T

108. Given below are Iwo statements, in which one is ! ] ?ﬁﬂ;’?%g £, E‘:ﬁﬁgﬁﬁ EI
labelled as Assertion (A) and other as Reason (R): g4 (A) BRI '
Assertion (A) : A condition is a stipulation which is a AMEY (A): T5 I ATy & J& IeW T foiy

i i wd g
essential to the main purpose of the contract, —~ - STID TP )

Reason (R) : A breach of condition gives aright to @RV (R): I TP Gﬁfe?: gﬁ'{g Gol m;;ﬁ

claim damages and not a right to &1 ARHR 1 TD ey

repudiate the contract, 1 R 3_‘}“37;[” T B m_:g I —
Select the correct answer using the code given below: — : T 3 AT FRa SRk

B @

Code - N m
(a) (A) is true but (R) is false. N

_ (Q(A)wtﬁr-gm)m%l
R but (R t correct ™)
(b) Both (A) and (R) are true but (R) is not corre gt/b)(msﬂ?(k)ﬂ’ﬁ‘imﬁﬁﬁj(li). (A) B |&

explanation of (A). AT T 2|
(c) Both (A) and (R) are true and (R) is comrect (€) (A) IR (R) 2 Wy ¥ ain ®R), (A) B W
explanation of (A). = g s
(d) (A) is false but (R) is true. (d) (A) 3/ & g R) W 2
108. The cause of “Minamata” disease is - 109. “fyrrer 7 51 BROT g —
(a) Cadmium polluted ,  (b) Lead polluted water "'"a R .
water / (a) Wefid S (b) [ wgfa o
(c) Mercury polluted (d) Chromium polluted ._’(9’ B BEEGR (d) )y wefda wd
water waler : el B
110. With reference to the mechanical properties of solids,  110. R211E G\ ) T ¥, Prefifag '
which of the following statement/s is/are correct? EEEE W/AME R il
(1) The Young's Modulus of rubber is greater than (1) TR &7 W i whg T F 3
that of steel. y Ffﬂ!ﬂ Hﬁ‘ " &
(2) The stretching of a coil is determined by its Shear (2) BN P Rearg D .
Modulus. —_ fuifRa gar 2 | HIwgT Ui g
(a) Only 2 (b) Only 1 " ' (a) Bad 2 (b) B
(c) Both 1 and 2 (d) Neither 1 nor 2 (o)1 3R 2 3 @7 g ll'-Tr ,
C-01 . -
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84. With reference to Tulsidas, which of the following
statement/s is/are correct?
1. Tulsidas was born in a village named Rajapur in
Banda district,
2. His wife's name was Geetawali,
Select the correct answer using the code given below:

Code -
(a) Only 2 (b) Both 1 and 2
(c) Only | (d) Neither | nor 2

85. If a clock gains four minutes every hour, the angles
traversed by the seconds hand in one minute will be-

(a) 360° (b) 360.5°
(c) 384° (d) None of the above

86. Match List-1 with List-Il and choose the correct
answer using the code given below the lists -

List-1 List-I1

A. Article-26 1. Administration of Union
Temitonies

B. Arnticle—<0 2. Secretariat of Parliament

C. Anrticle-98 3. Freedom to manage religious
affairs

D. Article-239 4. Organisation of Village
Panchayats

Code -

(b) A-3, B4, C-1,D-2
(d) A4, B-3, C-2, D-1

(a) A-3, B4, C-2, D-1
(c) A-3.B-1,C-2,D4

87. According to the 2011 Census of India, the
percentage of India’s urban population was -
(a) 30.7% (b) 31.2% '
(c) 31.8% (d) None of the above
88. Match List-I and List-II and select the correct answer
using the code given below —
List-I List-TT
(Mountain) ~ (Continent)
A. Andes 1. Europe
B. Altai 2. North America
C. Alps 3. Asia
D. Appalachian 4, South America
Code -

(a) A-1,B-3,C4,D-2  (b) A4, B-3, C-2, D-1

(c) A4,B-3,C-1,D-2  (d) A-3, B4, C-1, D-2
89. If in a certain code, CORPORATIONS is written as

PROCTAROSNOI, then how is JUDICIAL written

in that code?

(a) IDUJLAIC

(¢) UJIDICLA

(b) UJIDLAIC
(d) None of the above

repp
84. gorfierr @ W 3, awﬂgirsoa o Fhuide
Cog!

T /@ wé 2/ MGG
l.gam?{maﬂwﬂm“" @ R
T A I T |
2.wﬁﬁnr-ﬂzmﬂm’ﬁﬂﬂ?‘nml_
1 fy o e @ T I I

(b) 1 3t 23T
(d)q?ﬁlmg‘l2
i 4 foere AT TG S R, G

85. vz ud) wdld ue R TR 3y

w@ e # dws B G

2 - .
) 360° (b) 360.5°
i 384 (d)auﬂaﬁﬁﬁfﬁ‘l%jéf
86. -1 @ -1l @ AT BT T T
A fog g e 1 AT B T T G

\%/A.a. B4,C-2,D-1 (b) A-3, B4, C-1,D-2
(€) A-3,B-1,C2.D-4 (d) A4, B-3, C-2. D-I

87. ya ;N 2011 F T B IAER, WRA A
TR FEEEn &1 wfaee o7 —
(a) 30.7% (b) 31.2%
e¥31.8% (d) SWRIaT § 9§ 31E 76
88. <pdi-1 Ten ;-1 B P e qur 4 Ry
T HE | Wl IR gRw —

-1 -1
() (WeTE)
A. T 1. TRq
B. 1 2. I iR
C. e 3. Ry
' D.3vaRmm 4. TR spiRey
Hc —

(a) A-1,B-3,C4, D-2 (b) A4, B-3, C-2, D-I
:J" A4.B3.C-1,D-2  (d) A3, B4, C-1,D-2
8.1 R @ 4 corporaTIONs @

PROCTAROSNOI & %y #
@IS 7 JUDICIAL 3% fargay \—Tgn;m 8r<d

IDUJLAIC (b) UJ
(c) UJIDICLA (d) G&A;C N ’('ﬁﬁ -

[C-01]
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atch List-I with List-1l apq 5

g M wer using the code given bch,,::w the correct
1% 8 |
(;’is;tne of Academy) Yearof.
A Rajy? Lalit Kala Academy, h““l;?if:::: :‘“”l A
Lucknow n
g. Uttar Pradesh Sangeet Natak 2.1975 10
Academy, Lucknow ( !)
C. phartendu Natya Academy, 31963 L
Lucknow
p. Ayodhya Shodh Sansthan, 4. 1962
Ayodhya
Code -

(.) A-4. B-3, C-2,D-1
©) A4,B3,C-1,D-2

(b) A-3, B4, C-1,
(d) A-3,B-2,C-4,

D-2
D-1

—

g0. Given below are two statements, in which one igsy 69. fra @A Fe ‘ fou M &, Wa;; Trq:;fl
|abelled as Assertion (A) and the other as Reason (R Af@HUT (A) 3R T aﬁ T (R) Ym-
Assertion (A) : The Constitution vests the Excculivc..i: Jf@u (A) - ﬂqﬁn:ﬁzﬁ ™ aﬁ“&.q'li'aim' 5
Power of the Union in the F’rf:sidcnl of India.” v d ;m“i' _ﬂi TP W
Reason (R) : The President of India is the SR (R) - e 3 Rt
Consliluliqna-l Head of lhe.Slatc. : 4 e o TE @ W AR @ S T 9
Select the correct answer using the code given Mow} : o
Code - . n 6= <\ | | o
(a) Both (A) and (R) are true and (R) is conecf“:'; (@ (A) w@ (R) ZF W 2 3R (R). (A) A
explanation of (A). : ) e F B | gt
(b) Both (A) and (R) are true but (R) is not correct- (b) (A) s (R) A & A (R). (A)
explanation of (A). ' @ 8 fi’ﬁl 2l ;
(c) (A)is false but (R) is true. | V‘d (A) Il 2 ﬁ@ (R) §d : |
(d) (A) is true but (R) is false. (d) (A) W & fig (R) 3l & | . et
- h bt whi 70. * § e Sd-ue :
70. With reference to *Victoria Falls in Africa., which oL s 3BT e o T8 £/
e following statements isfare comeet? S o oy sie s 2 e o e 1
I. It is located on the border of Zambia ang’J » 7 e T R R B
Mozambique. . Ej ﬁaﬁﬁnﬁ@mmﬂmﬂﬁmﬁm
2. Itis situated on Zambezi River. . A AT :
Select the correct answer using the code given below: i
Code - (@) @ 1 | 3R 2 A
(a) Only 1 (b)BolhlﬂDd?- (c) @ae 2 (s a2
(d) Neither 1 nor 2 &1 fﬂ;_ﬁ},waﬂ&ﬂ?ﬂmwl
9 Oy «ms to the north. 71. cidba AT R 3L sl 10 faf. =l | firR
™. From his house, Lokesh went 15 kms R a8 TR A 3R =T | L
Then he tuned west and covered 10 kms. Then he a8 <o A 3R 791 AR S fo5 . aa| 317:% 0
turned south and covered 5 kms. Finally turning (0 ) R TR, Ig 10 frA. & g0 T Dl
east, he covered 10 kms. In which direction is he from W— 3 %?)
. ' (b
his house? | (@) 1& 5 qmliﬂﬂ i o
(a) East (b) West the abc;vé" (
‘ " [t
(¢) North (d) None 0 . N |
R VAT
01) ,
ISR W uer ==y T X
d 5 _—

prepp

.{[ih—l Trﬂ -q:'“"" "?( ?Irlﬁfﬂ aﬁm E.‘2“V.Ehl.a"eﬁ.pqalIExamsGuide

e N ad I g -

-1 -1
(ararasdy @ =) (e ad)

A, @fea wenr sreradie, 1. 1986
AWTE

B. 9t gy i smes 3‘_<I‘J?5
AmTE), ST

C. WA Aren afnTaH) 3. 1963

D. 31y Y [, 4.1962

are
moa -

A4, B-3,C-2, D-1
() A-4, B-3,C-1,D-2

(b) A-3,B4,C-1,D-2
(d) A-3.B-2,C4,D-1
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. b Li 54. A1
54. March List-1 with List-II and choose the correct g
answer using the code given below — ae A ¥A) IR qfg ‘\'fﬁ‘"

. List-I1 & R
List-I . I Current Assets ‘Ifﬂ 1 N ﬂi—“ﬂ
(A) Merchandise (1) Zorctm o e A) T arad (1) g ==
Turnover ( w
] 2) Liguid Assets (2) it
(B) Current Ratio (= Current Liabilities (B) Ie], aF_[ﬂTﬂ e 4 @ A gt an
0 A id Test (1} Net Profit before Interest & Tax (.” and ¢ g
( €l $ } Total Assets m-!llld : e
Ratio (C) 8= 55 @) iy ord awg B AT
) . Cost of Goods sold s T
(D) Gross Capital 14)—'—————-&‘,%‘“ ~tock (D) " fafyanford q‘ﬁﬂ
Employed i
Code - e (b) A-2. B-1,C-3,D-4
(a) A4, B-1,C-2,D-3 C-1.D-2
(a) A4, B-1.C-2,D-3  (b) A-2, B-1,C-3.D-4 o D4 (@ A4, B-3,C-1.D-2
(c) A-3,B-2,C-1,D4  (d) A4, B-3,C-1,D-2 (o) A3, B, ey ORIfORT SH
55. Which among the following is the comrect order @ AR ilf?lﬂm N—"""
dA-R? et I -,
mentioned in Preamble of the Indian Constitution? B 3rorard), vior— AL,
(a) Socialist, Secular, Sovereign, Democratic ' (b) Wﬂ ; —gﬁﬁ' |, FATSTTAL, ger—fARue,
(b) Sovereign, Socialist, Secular, Democratic S ATD =T
() tie—FRe, TAIGTATAL gt T
(¢) Secular, Socialist, Sovereign, Democratic : AEdATHE . S-S
(@) Tt g e, iR ‘

(d) Sovereign, Secular, Socialist, Democratic

56. Which statement is correct about Panchayati Raj?

(a) The Panchayat Samiti and Zila Parishad are [ !
constituted “’jilh directly elected members. ' el | Tfed SaRdl 8
(b) Minimum age is 18 years to contest the election (b) GeaTId wR 9@ @ =LA
at the Panchayat level. ) -, . 2
(c) Election of the Panchayati Raj Institutions is derad et TR BT g I A T
conducted under the supervision of the State ‘
Election Commission. @ g
(d) None of the above ' ST : o
57. With reference to “AGMARK", which of the 57 @ @ waw #, Praffea suEl 3 @
following statement/s is/are correct? ‘ FH-T/W A R /%?‘
1. “AGMARK" is the sign of quality of agricultural 1. T Fi Iarel B o BT G 2
products. . 2. QTG BT FAV-UE ARG @re e g
2. Centificate of “AdGMARK is issued by Food ot fvar T 21
Corporation of India. i :
Sclcc?mﬂc:c comrect answer using the code given #ra fau MU Elg‘z A WA IW ghY —
below- Mme —
Code - o i 1 3R 2 <= (b) %9 1
(a) Both 1 and n c d
(c) Only 2 (d) Neither 1 nor 2 - “*amm S @adima2 )
58. With reference to Uttar Pradesh, which of the % E‘\’Jm/a mﬂ;ﬂg;} Prefafaa el
following statement/s is/are correct? i ) 1. SR 7w 0 / ‘Eﬁ"i ¥ %o 2 _
1. Uttar Pradesh is divided into 9 economic regions. 2: IR Ty & 3: :'ﬁma?_ 1 |g |
2. Uttar Pradesh has 11 agro-climatic zones. AN N G NGELE
Select the correct answer using the code given below- ’ _ B\ WA FR i‘lﬁ IR B 94T
Code - _
(a) Both 1 and 2 (b) Neither 1 nor 2 (a) 1 3R 2 25
Fa@ w2
(c) Only 2 (d) Only 1 (c) dad 2 ng |
R

(o e T
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9. Match List-1 with List-1 and select

answer using the code given below.. the correct
List-1 List-I1
(0il Refineries) (States)
A. Barauni 1. Assam
B. Bongaigaon 2. Bihar
C.Bina 3. Gujarat
D. Koyali 4. Madhya Prydesh
Code -

(8) A-2.B4,C-3,D-1
(©) A-1,B-2,C-3,D-4

(b) A-3,B-1,Cc4. D2
(@) A2, B-1, C4, D-3

pPrepp

Your Personal Exams Guide

89. -1 B -0 @ gl @R @en A R
M e A u IW g -

-1 -1
(GERICE RIS (¥r59)
A. 70 -4, 3
B. @i T2 faew
Cdr ~ 3. 7o
D. w4, W Weu
E’E f—

(a) A-2,B-4,C-3,D-1  (b) A-3,B-1,C4,D-2
(c) A-1,B-2,C-3,D-4 Vw A2, B-1.C4,D-3

a.,y_ b z h
—+==1and =4=-=1, th 2L a y_ E z _ +hoc
s0. 10 £ 14 e en a+z will be n&;+;-1aﬂ1y+c—1t.ma+z RELRE

equal to -

(8) 0 (b 1

(€) b (d) None of the above
y

51. Consider the following statements with reference to
“Nandini Krishak Samriddhi Yojana™ -
(1) This scheme includes milch cow breeds of
Sahiwal, Gir, Tharparkar and Gangatiri only.
(2) Beneficiary must have at least one year of cattle
rearing experience.
Select the correct answer from the code given below-
Code -
(a) Neither 1 nor 2
(c) Only 1
52. 15 bulbs each of 200 watt capacity in a Silkyara
tunnel are illuminated continuously for 24 hours. The
consumption of electricity will be -

(a) 71 units (b) 72 units
(€) 73 units (d) None of the above

(b) Only 2
(d) Both 1 and 2

. Consider the following Mughal Emperors and
arrange them in chronological order :
() Furrukhsiyar (11) Jahandar Shah
(Ill) Bahadur Shah  (IV) Muhammad Shah
Select the correct answer using the code given below:
Code -
(@) 1L, m, 1, v
(©) Iv, 11, 1, 11

Cony

(b) L, IV, IL, III
(d) 1L IV, 11

L —

Page 13 of 32

'&-;'I"T'l—
(a) 0 (b) 1
(c) b (d) SuRrad § A g T8

y
51.--qf}a=hgamq-ﬁ,-aﬁm"$¢r—aﬂﬁﬁrmma
FoAl W fEr Fifg —
(1) 39 T # dad aeard, R, YRIRGY 1@
T wanfy ) gurs T @ afufeaa @
g
(2) el & T MATE B 9 | TF TH A Bl
P e Wiy | ars >
MRugeaTW@swR - W & |
HT — ol.‘-_;b;i_g-b
@ad1Ta2 I 2 hb
(c) @aa | (d) 21 1 3R 2
52. v RIGHART TN A _200 dfc & @ 15 T
AR 24 W @ A R o # ) e @
g fh 2ol

(a) 71 gfre l/wﬁzqﬁt
(c) 73 7fe (d) SR § A T T
53. Preififaa el R R R R @ ST
arafterd i :
(I) FOERTR (Il) TEIER M8
(111) 9&TgR W8 (IV) Je=ig e
#r Ry T g § TE IW AT :

ﬁ‘z —
(a) 1L, 1L I, TV
(c) IV, I, 1, 111

(b) LIV, I I
(d) L, 1L IV, 11

TR
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40. Consider the following events and arrange them in

Al

"2»

R ————
[C-01)

chmnologicnl order with the help of code

bc]o\\u’:
[ First phase of Bank Nationalisation

1. Second phase of Bank Nationalisation
{11, Establishment of Regional Rural Banks
[v. Establishment of NABARD

Code -

(@ IV, I, 1L 1 () 1L, 11,1, 1v
(¢) I NLIL IV )L v, m
PIN in banking transaction is known as -
(a) Postal Index Number (b) Permanent

Identification Number
(d) None of the above

given

(c) Personal
Identification Number

Which one of the following organisation declared
Varanasi its first Tourism and Cultural Capital in
20237

(a) Shanghai Co- (b) G-20
operation
Organisation (SCO)

(c) ASEAN (d) UNESCO

. Given below are two statements, in which one is

labelled as Assertion (A) and the other as Reason (R):
Assertion (A) : Saline soils in India are not
appropriate for cultivation of crops.
Reason (R) : Saline soils have high proportion of
salt, largely because of dry climate
and poor drainage.
Select the correct answer using the code given below:
Code -
(a) Both (A) and (R) are true but (R) is not correct
explanation of (A).
(b) (A) is false but (R) is truc.
(c) (A) is true but (R) is false.
(d) Both (A) and (R) are true and (R) is the correct
explanation of (A).

+ With reference to the Burhan-ul-Mulk Saadat Khan,

which of the following statement/s is/are correct?
(1) Saadat Khan was the founder of Independent state

of Awadh.
(2) He took part in the conspiracy against the Say

Brothers.

yid

ct answer using the code given below:

Select the corre

Code -

(a) Only 2 (b) Both 1 and 2
(¢) Only 1 (d) Neither 1 nor 2

40.

B T A TEIT TG TR

prepp

Your Personal Exams Guide

Prafafea geami w faar @fn g S9!
vy @e @1 IuEm FA EY HAHHIIIR

araftera Ao
(pe<)
I 4@ @ UEhaaR a1 gE W

e apfior @@ @ e — 7S
IV, ST @) e 1

—

E':"\E -
@ IV, ILILT S~ O LI LIV

: #ﬂ.m. I, v (@) LIL TV, I
A @ oi—a1 3 A (PIN) @1 sifem & -

424

43.

(a) Wiee g AR (Y U
FEACAR T e i LO B
(¢) wiret argfeftaee (d) Sudad # 4 TE A
TR
Preafeftaa 3 @ fra d@med A b 0234, qRITE
T 30 vEeh qe ok TRPHRS TeEr aifta
foran?
giaré wean e (b) Sf1-20

(va.¥0.30)
(c) anf¥am (d) T

49 @ 7w Ry g & fA ¥ W@ @

e (A) 3R @R BT BROT (R) FE1 T E ¢

aﬁmm):mﬂﬁaﬂnﬁaﬁ@maﬁ@m

& forg Suge el €|

W(R):muﬂuﬁﬁﬁwaﬁmaﬁmm
2, Rraer [@ SRY P Faay HR
@R o e

ﬁmmaﬁﬂﬂﬁmmwzﬁrﬁm

m‘\z_

(a) (A) 3R (R) A W & g (R), (A) B e

aEn E vl B
(b) (A) 3l & g (R) Wl &1
(©) (A) W & g (R) IR 2|

wm'(manv (R) 2l wa@ & 3R (R), (A) B wE

a4, REF-SA-Teh__BIRE WM

T B/ § 9 ar-a/d el

Page 11 of 32

T e © |
& w=H ¥

/7 : -

(|)m$wﬁamﬂwﬁmw
A7

(z)mmmammﬂmm

ol |
£ fRu MU g BT AN T T IR B A

HIY

*ha—

(a) dae 2. (b) 1 3R 2 2T
1 GRS

[IUMUARINEIDERERATAON
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23. Match List=I with List-11 apg select the correct
answer using the code given below:

List-I List-11

(Dance) (State)
A. Bharatnatyam 1. Tamil Nadu
B. Kuchipudi 2. Uttar Pradesh
C. Sattriya 3. Andhra Pradesh
D. Kathak
Code -
(a) A-1,B-3,C4,D-2  (b) A-3, B4, C-1,D-2
(¢) A-1,B<4,C-3,D-2  (d) A-1,B-2,C4,D-3
Consider the following statements with reference to
Charkula dance of Uttar Pradesh -
1. Itis a dance performed in the Awadh region of

Uttar Pradesh.
2. In this dance, veiled women balancing large multi-

4. Assam

24.

tiered circular wooden pyramids on their heads
dance to songs about Krishna.

pPrepp

) . N . Your Personal Exams Guide
23. 'ij}ﬂ—l o0 qFﬂ_ll | '{Iqﬁdm Hifere wd 4 fRy v
@ 1 g B a9 g

-1 -1l
(<) )

A VREFTEM —%l. affeirg

B. wfgd . E 2. IR Wem

C.uAu . ATA Waw

D, HA® 4. IR

Jaﬂl B3,C4.D-2  (b) A3, B4,C-1.D-2
(c) A-1. B4, C-3, D2 (d) A-1,B-2, C-4.D-3
24, g-ngema‘.amqm?wwﬁwr&-rma
T R AR aien —
| 7E IR Wew @ 3a &3 ¥ fam s e
2|
2,59 e N, val g wfeard aw RR W 73
a-gzaﬁurﬁamwamé’!a%mﬁiﬁmﬂgﬁa
¥l # 3R gum @ Mol | J@ Fw €

Select the correct answer from the code given below: #ra Ry 7y e | wE ST B T wfan -
Code - ) e —
(a) Neither 1 nor 2 (b) Both | and 2 (@) 1 @t 17 €2 (b) 1 74 2 Tl
(c) Only 1 (d) Only 2 (c) Haa | AM) Fae 2
25. If the 25" of October in a year is Thursday, the ~ 25. f farsil ad § 25 FaeaR B AR &, @1 TH TEH
number of Mondays in that month is - 95 ) 3 wmaRi @ T e
(a) 3 (b) 4 =04 @3 (b) 4
()5 (d) None of the above [ -0 5 (d) SR | | g
26. Given below are two statements, in which uncun ‘-‘- 26. A @y W U T £, R U @ AfEeE (A)

labelled as Assertion (A) and the other as Reason (R)-
Assertion (A) : The norther slopes of the Himalayas
have a thicker vegetation cover
compared to the southern slopes.
Reason (R) : Southern slopes of Himalayas receive
more rainfall than the northern slopes.
Select the correct answer using the code given below:

Code -
(a) Both (A) and (R) are true and (R) is the correct

& -5

explanation of (A).
(b) (A) is false but (R) is true.
(c) (A) is true but (R) is false.

cxplanaﬂon of (A).

axf—o

[C-01]

[P

i

"\(/

(d) Both (A) and (R) are true but (R) is not the correct @

344" 3k IR B RV (R) FE T &
IfEuA (A) : %wmiﬁaﬁﬁmmziavﬂ
gaml @l qe | T 6 o
AT 2 |
FRV (R) : o & <ol gaml o) Sl
16 Tﬁmﬁsmmﬁ-ﬁmau

ﬁ&qmﬂﬂw
\
o Iolllllq}

7 - mq}“ﬂ
(a) (A) 3R (R) &I -
mr&'ﬂ‘cfﬂmt-l 3

\ﬁm)m frg (RY et & | % ;ﬁ
(©) (A) T ® fag (R) I € | ke

(d) (A) 3R (R)&F1 W € fFg (R), (A) B G
R e EXen 2|

-

141 7 rélq'-

i

(R), (A) 1 |&

Page 7 of 32
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27. Given below are two statements, in which one is
labelled as Assertion (A)dnd the other as Reason (R):
Assertion (A) : Raja Ram Mohan Roy was the Editor

of "Sambad Kaumudi®, o Bengali weekly.

) : His articles condemning the custom of

widow burning were published in it.

Select the correct answer using the code given below:

Code -

(a) Both (A) and (R) are true and (R) is comrect
explanation of (A).

(b) Both (A) and (R) are true byt (R) is not correct

explanation of (A).
(€) (A) is true but (R) is false,

Reason (R

pPrepp

Y%rr peaonut‘%ms Guide

E(;Jam R 2t W & SRR (AT @
ﬂmm%m% frg (R). (A) B wh

(A) 3R (R)
e 7l e 2 | .

(c) (A) W & fing (R) 3T 2

(d) (A) 3Ty 2 g (R) 9

(d) (A) is false but (R) is true. Ay
28. Match List-I with List-Il and select the camctf@iﬁ’l—l G| Ez -1 ¥ gaferd FIfTY HE” A Ry i
answer using the code given below HEC Bl P Wel S E'\T:h.ll
ListI List.I1 LT @ Redat TE Qe
(A) Futuh-us-Salatin (1) Firoz Shah Tughlag :E (A) q?f?g_mq;ﬂﬂﬁ? (n 1. 38
(B) Futuhat-i-Firoz Shahi (2) Abdul Malik [sami (B) FeTe—U—BITeme! mﬁ AfeTd® e
(C) Tarikh-i-Firoz Shahi  (3) Amir Khusrau (C) TRE—g— Rl <3)ﬁ E“fﬁq” !Iwﬂ
(D) Khazain-ul-Futuh (4) Ziauddin Barani (D) @H-Se—HE 4
Code - ' y
aﬁ' -
(8) A-3.B-2,C-1,D4  (b) A-1, B-3, C4. D2 % (2 A3.B2.C1D4 (b)A-l,B3,C4,D2
(€) A-2,B-1,C4.D-3 (d) A2 B4, C-3,D-1 A-2,B-1,C4,D-3 ' (d) A-2, B4, C-3,D-1
] ' " r\ Ve P
29. Given below are two statements, in which ope isng._)’r gi doH fag o€ fored 'R’EF_ i
labelled as Assertion (A) and the otheras Reason (R): 9  afwer (A) aiR T B PR (R) el T & :f'
Assertion (A) : A person travelling in a car With c— (A): a= A zﬁ ; b
: . el PR H AT FIA GHT @
closed glass windows and doors is Pt foreh @ amarg J -‘3?%
safe from the lightening strike. wY

Reason (R) : Actually a closed car behaves like a
' hollow conductor, so charges cannot

enter inside the car. =

Select the correct answer using the code given below: 'C;:J N Ry 77 o5

Code - ' % il :

(@) (A) is false but (R) is true. -

(b) Both (A) and (R) are true but (R) is not correctﬁ ::; E:; malmqfa?—:? (R) &g

(c) Expllllan(::j]on Oc: (;:‘.)) true and (R) is c-orrect ‘-éﬂ')aﬂm %q?l ) ﬁﬁ e Eﬁ @

0 an are true A) 3R (R :

explanation of (A). Y ’“rgqm 3,—(‘;%?7)[ WS R AR (R, (A) = el

(d) (A) is true but (R) is false. —  (d) (A) W & fbg (R) arrey 2 |

0. With reference to the ‘Rhine River in Europe’, whichg:_)w- T A M T B et 4 Freffes % o o

of the following statement/s is /are correct? oy S/ ¥ Ho W) g/

1. Rhine river is an important pathway for industrial L) 1. 87 78} 9w NLEIH ey TRk &
activity in northern Germany. Y 9 F"%W W it 2

2. Port of Rotterdam is located at the mouth of the : Y P I NERIS G oM wR fug
Rhine river. .

Select the correct answer using the code given below: m T T BT sy R WE IR H T

Code - ' T ~

ither. b ;
Pl s @IBITAT s
01] Page 80732 = 2 ) o |
- age8o . \I_,
| LT
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1. Consider the following statements wi
S with reference
Rudrama and choose the . fice to
e correct statements about
(1) Rudrama was fourth independent ruler of
Kakatiya dynasty of Warangal, ot N
(2) She defeated Pandyas of South Tamil Nadu, -

Eastern Ganga rulers of Orissa and Seun: N
of Devgiri. aand Seuna rulers
_(a) Only | (b) Neither 1 nor 2 E:;‘

(c) Both 1 and 2 (d) Only 2
32. Which of the following statemen/s is /are correct?
1. First Agricultural University was established at
pantnagar, Uttarakhand (erstwhile part of Uttar
Pradesh) in 1960.
11. During 1901-1905, six agricultural colleges were IT;
)|

—

established at Kanpur, Pune, Sabour, Nagpur, &

Lyallpur and Coimbatore. L\j
Code - W
(8) Neither I nor I1 (b) Only 1I -
(c) Only 1 _ (d) Both Iand 11

. The 6® Schedule of the Indian Constitution is related
to the administration of Tribal arcas of -
(8) Assam, Arunachal Pradesh, Tripura & Mizoram
(b) Assam, Tripura, Nagaland & Mizoram
(c) Assam, Nagaland, Meghalaya & Mizoram

o
S
(d) Assam, Meghalaya, Tripura & Mizoram O

34. Match List-I and List-IT and select the correct answer
using the code given below —
List-I List-1I
(Country) (Total Medals won
in Hangzhou, Asian .
Games-2023) NN
A. China 1.190 %
B. Japan _ 2. 107 Ry
C. Republic of Korea 3.383 W
D. India 4,188 o,
Code -

(b) A-2, B-1,C-3,D-4

(a) A-3, B-2, C4, D-1
(d) A-3, B4, C-1,D-2

(c) A-1,B-2,C4,D-3

35. March List-I with List-Il and choose the correct
answer using the code given below :
List-I List-II
(A) Vitamin-C (1) Night blindness
(B) Folic Acid (2) Beri-Beri
(C) Vitamin-A (3) Anemia
(D) Vitamin-B1 (4) Scurvy
Code -

(b) A-4,B-3,C-1,D-2

(8) A-1,B-2,C-4,D-3
(d) A-2,B-3,C-1,D-4

(c) A'4| B'3! C-zl D-I

3N, g 3 vl i Prefafaa wuEl w AR
T 9D ar a9 dua g -
(1) Tom a/Td @ armda an @ dhef) wdE
s off |
(2) 9 T nfﬁmrgn‘:mm,miﬁt{ﬂ

i ], Safnd @ WS ARIE] E gifard
faram |
(a) @aa | (ysr a1 A2

3 1 st @r (d) @ae 2
32, Pyifaftaa o /weE § @ @E-u/d WE
g/
1. qEen it fvafaeran, v, sowras (g 3
IR w2 &1 fewn) ¥, 1960 7, venfia fa T
o1 |
1. 1901-1905 @ TRM, ®FYR, GO, TR, ATER,
AR 3R FrEgy # v g A

werfi fag Q|
zﬁ\a_
(@=adimeal (b) &aa 11
(c) ®ad 1 d) 13fR 11 g
33. yRAW JfwE @ Wﬁlﬁ{ﬂﬁu’ia‘r
A &3 B .

(8) s, arevmae wew, g @ f
(h)m,fagﬂ_awnﬂvsaﬁa‘m
(¢) o, AMTave, AU 4 AR
wm.mu.ﬂguaﬁa’rﬂ
34, -1 e -1 firergy @ A R M e F

I B Y GE IR FI TG I —
-1 -1
(@) (ETers TR We-2023
¥ W gt A wE)
A9 1.190
B. WU ~ 2.107
C. PR TR 3.383
D. ¥Rd 4. 188

al? -

(a) A-3,B-2,C4,D-1  (b) A-2,B-1,C-3,D4

(©) A-1. B2, C-4,D-3 | Jdf A3, B4,C-1,D-2
35. <1 @ -1l 9 gk A e @ Ry ™

THe B T IR ¥& I gAY :

-1 -1
(A) fref=-C (1) TR
(B) wiferd 3t (2) W-a
(C) frerfia-A -+ (3) XaTeqd
(D) e -B1 4) T

Hec -
.ﬂf A-1,B-2,C4,D-3 M—4. B-3,C-1,D-2
(c) A4,B-3,C-2,D-1 (d) A-2,B-3,C-1.D4

[C-Ol] NN E
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19. Given below are two statements, in wthhR"':;”': aifyaer (A) IR LS § qe
labelled as Assertion (A) and the other as Ke afvea (A) - I .
(R) - Jute S *imqmsﬁwﬁ?’m
Assertion (A) : India is the largest producer of Ju (R) 2 WIRE @1 [C
in the world. ﬁ"l * Y S
Reason (R) : India’s Jute production increased due g %l-m_l] g DT I
: to Yellow Revolution, Hra Ry Y
Select the correct answer using the code given below- &e - o # fm (R), (A) G e
Code - (a) (A) 3 ”_“M
(a) Both (A) and (R) are true but (R) is not correct a6 2 s 21
uplgnaliun ufh\!.. w (A) T B (R) Y
(b) (A)is true but (R) is false. c) (A) I f#n’vﬁ( R) iR (R), (A) e Ty
(c) (A) is false but (R) is true. (d ( alR (R) 2y ad & (R),
(d) Both (A) and (R) are true and (R) is the correct (d) (A) PR . .
explanation of (A). o - Rrri ¥ W %
20. Given below are two statements, in which one is 20 A @ zﬁ’[ @RV (R) TE T & ~
labelled as Assertion (A) and the other as Reason (R)- f¥r (A) 1\15‘377 @ g W ﬂ‘"—"S forem
Assertion (A) : Roscomos's Luna-25 mission to afy@wer (A): gtvq g D ygd H MR
moon  was aimed at ensuring W & ﬁqﬁ
guaranteed access to moon. fraey IMARTT
Reason (R) : Russia and China together are leading R (R) : 2_1% ngga aEia @
International Lunar Research Station < o A I (ILRSJ
(ILRS) against US. led Artemis A FRE B
Accnrd. @1 ﬂ Hﬂ I g‘ﬁq -
Select the correct answer from the code given below- _'ﬂ%‘ fex e 72
Coge ' g fF (R) 3 B |
(a) (A) is true but (R) is false. (" (A) ¥ @ R) & A) 3 A
(b) Both (A) and (R) are true but (R) is not comrect (b)€A) 3R (R) ST g (R). (A)
explanation of (A). e E FX B
(¢) Both (A) and (R) are true and (R) is comect (¢) (A) 3R (R) TFT W@ & 3R (R), (A) & W
explanation of (A). AT FCT 2 |
(d) (A) is false but (R) is true. (d) (A) e & g (R) O 2|
21. x% of y is equal to y% of ........... 21, y & x% e y% & awEw 27
(a) x (b) 100x (@) x & (b) 100x &
(e) X (d) None of the above X . '
) 3 R (d) ST F | B
22. Given below are two statements, in which one is  22. 91 2) T 23 T3 ¢, Rl va a afyeers (A)
IR TH P BRI (R) BeT 747 £ -

labelled as Assertion (A) and the other as Reason (R):
Assertion (A) : During the winter season, most part IFFUT (A) : Tl srey y 'FIT\’H FT
h_-_h

of India is dry.
Reason (R) : Most parts of the country are under PR (R) : EE RMA 2y 'd"n 3rftramrer W
Wj‘i% ARG T B woirg 3 wEd

influence of the northeast trade winds

during the winter season. o 11'& ?:‘E:'
Select the correct answer using the code given below: AT - C BT SUERT R e IR &1 999
Code - '
. qc -

(a) Both (A) and (R) are true and (R) is the correct

explanation of (A). (a) Mﬁgﬁ ;Tﬁ W € 3R (R), (A) & |é
(b) Both (A).and (R) are true but (R) is not the correct (b) (A) 3l R) 2

explanation of (A). AR TE B ;ﬂr € ﬁ‘ﬁ (R). (A) & wd
::: (:) f's fa!scbbut( g}) isru;uc. (©) (A) a7 @ R (R) e .

(A) is true but (R) is false. ﬂ)(A)méﬁﬁ(R)mh

o1 _ R el . LT
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1. ¢
Given below are two statements, in which one is
sifrer (A) AR

labelled as Assertion (A) and the other as Reason (R):
Assertion (A) : The boiling point of water decreases afieaa (A) ¢ ﬁafﬂﬂm gl 21
as the altitude increases. el mg-q-ga g ﬁmaﬂ a4
Reason (R) : The atmospheric pressure increascs (R): St @ % e 6 I
with altitude. A Ry Mg aT I
Select the correct answer using the code given below: e :
Code - e - 21
(@) (A) is true but (R) is false. ‘MAH@ ¢ g (R}mﬂ 2
(b) (A) is false but (R) is true. (b) (A) 3T & fr= (R).ﬂmaﬂ? (R) (A) @
(¢) Both (A) and (R) are true and (R) is comect &ﬂ) (A) 3R (R) Ayl wd
explanation of (A). e &l 2 : (R) (A) #
(d) Both (A) and (R) are true but (R) is not correct F) (A) 3R (R) <l T g fog OO0
explanation of (A). i 8w ¢ 4 T adq
2. Which of the following city/cities is/are not situated 2. Prefafam d A @M |1/ '
in present day Afghanistan? e # Rerd el 3/3?. 4 HARDG
I. Ghazni 2. Fergana 3. Kandahar 4.Samarkand R IR 2 o T L A
Select the correct answer from the code given below: fa Re m e | QA 7l IR P
Code - e -
(a) 2 and 4 (b) Only | (a) 2 3R 4 (b) ®ac 1
(c) 2and 3 (d) Only 4 X 23R 3 udy@ad 4 ,
3. What is the correct chronological order of the Sultans 3. ¥27E 91 @ ol 1 Wl prenged ¥
of Sayyid dynasty? (1) faa @ (2) JgwIe WE -
3) e (4) FeEqar e e
F7 WA 9 B T4

(1) Khizr Khan (2) Muhammad Shah
(3) Mubarak Shah  (4) Ala-ud-Din Alam Shah = T HE W
Select the correct answer from the code given below:

Code - HE —

(a) 1,3,4,2 (b) 1.4,2,3 (a) 1,3,4,2 (b) 1,4,2,3

() 1,3,2,4 (d1,23,4 \uﬁ) 1,3,2,4 (d) 1,2,3,4
4. A voltage of 15 volt is applied across a colour coded 4. :? 77 3R Ta 9T @ UEd, @R AR R oed
carbon resistor with first, second and third rings of Ay 1 BIfed e WRRE W) 1S gree @1
brown, green and black colours. What is the current dredal ST A @ | Sk & A ¥ waifed

flowing through the resistor? g1 areh e aar 87

~ (a) 3 ampere (b) 2 ampere (a) 3 iR (b) 2 TR
(c) 1 ampere (d) None of the above (c) 1 TR (d) ST 9§ B AE
5 TR B &R0 W AR ¥ a1 9 IBR

5. Consider the following types of erosion and arrange

these in correct sequence in lerms of the increasing _
order of soil loss from the field due to these types of D i A — & aafta Y =
erosion- , | arEfer &Rl (weH) 1L €IoT &R
:i 1 %ullllyégz‘z:n :lv Féll’":;h;;‘;f:)‘l’:‘ 111, AAferT Rl IV. WRa &R
M 4 | .

Select the correct answer from the code given below- A fag T He A Wl IR T qUA DG —
Code - n
(a) IV, L IIL II (b) I, IV, I1L, (a) Iv,LIIL I (b) IL IV, IIL, I

A6 UL IL LIV (d) IL IIL, IV,

(d) ILTIL IV, 1-

nts with reference to - 6 #RG @ # woi ¥ Frafafea su=

(c) ILIL L IV

6. Consider the following stateme

Attomey General of India - _ R frar #fw -

1. He holds office during the pleasure of the Prime |3 warrE @ A T 98 W Srg— {

2. H::E:EE::E‘TEIIM to the privileges of a Member of %_g g“wﬂzﬂ; _3: Wﬂgﬁw 8 €

Select the correct answer from the code given below: e - .

g)ﬂ(;m I (b) Only 2 bl (b) ey 2

(©) Neither Lnor2____(d) Both 1 and 2 szﬁ'“‘ﬁz (d) 137 2 ¥

2 M —_

con e TR
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